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�0BKA �070�AB0= >1;KAK=K§ :;8<0BK A>;B¯ABі:-10BKAB0= >§B¯ABі:-HK�KA�0 �0@09 

±;�0OBK= :¯@B :>=B8=5=BBі;і:?5= A8?0BB0;04K. "; :¯= <5= B¯==і§, �KA ?5= 6074K§ :¯@B 
B5<?5@0BC@0;K� �0@0<0-�09HK;K�B0@K=40 6Ý=5 �KAB0= 607�0 6K;40< íBC45 :í@і=54і. 
�¯:і; 09<0� 60CK=-H0HK==K§ B±@0�AK74K�K<5= 6Ý=5 B0?HK;K�K<5=, 53іABі:B5@45= 
�0@4K§ 074K�K<5= 6Ý=5 �0BBK A>�CK<5=, 0C0 <5= B>?K@0�BK§ íB5 �±@�0�BK�K<5=, 
�0@�K=4K 1C;0=C ?@>F5AB5@і<5= 6Ý=5 2535B0F8O;K� :575§45 Bі:5;59 :¯= AÝC;5Aі=і§ 
:í?Bі3і<5= A8?0BB0;04K. 

�KAK ACK�, :í1і=5A5 1±;BBK, 1і@0�  ±70� 5<5A, 0; 607K KABK� 6Ý=5 ±70�. 
�і@і=Hі B018�8-:;8<0BBK� 15;45C >1;KABK§ K;�0;<5= �0<B0<0AK7 5Bі;35= 09<0�K 

1>;K? B01K;04K. �і@0� <±=40 40 K;�0; 60�409;0@K íB5 �0B0; 6Ý=5 :í? 6K;40@K �0;K?BK 
íAC <5= 40<C ¯Hі= K;�0; 65B:і;і:Aі7.  ±=40 6K;4K� 60CK=-H0HK= <í;H5@і 280-320 <<, 
0; 6K;K :575§45 125-135 << B¯A54і. &±@0�BK �0@ 60<K;�KAK Ý45BB5 120-130 :¯=35 
A>7K;04K, >=K§ 18і:Bі3і 25-30 A<-35 65B54і, 0; �0@40�K AC �>@K 75-95 <<. �Ý=4і 
40�K;40@4K§ 2535B0F8O;K� :575§і=453і 384@>B5@<8O;K� :>MDD8F85=B (�&�) 0,5-0,6 

H0<0<5= A8?0BB0;04K, 100% 6>�0@K >§ >@B0H0 BÝC;і:Bі: 0C0 B5<?5@0BC@0AK=K§ 
�>AK=4KAK H0<0<5= 28000% �±@094K. ìAі<4і:B5@4і§ 15;A5=4і 2535B0F8O;K� :575§і 150-
155, 0O7AK7 - 130-135 :¯=. 

�í:B5<3і 40;0 6±<KAB0@K=K§ 10AK=40 B>?K@0�B0�K K;�0;4K§ í=і<4і �>@K 
09B0@;K�B09 H5:B5C;і: 53іABі: �010BK=40 >;0@ "@0;40 >@B0H0 34 <<, ,K§�K@;0C40 31 
<<; 0; "@0; >1;KAK=40 <5B@;і: �010BB0 – 110-120 <<. �±; 09<0�B0 >§ 0C0 
B5<?5@0BC@0AK=K§ �>AK=4KAK=K§ 1>;CK 5@B5 4Ý=4і 40�K;40@, B0@K, :0@B>?, 6¯35@і 6Ý=5 
:í:í=іA 40�K;40@K=K§ :í?Hі;і3і=і§ 5@B5 ?іA5Bі=, >@B0H0 ?іA5Bі= A>@BB0@K <5= 
1C40=40@K=K§ ?іACі ¯Hі= 65B:і;і:Bі. 

"1;KABK§ 5:і=Hі B018�8-:;8<0BBK� 09<0�K 1і@і=Hі35 �0@0�0=40 �±@�0� (HTC = 0,5-
0,3).  ±=40�K 100%-B0= 6>�0@K >§ 0C0 B5<?5@0BC@0AK=K§ �>AK=4KAK 2800-30000% 
0@0;K�K=40. &5<?5@0BC@0 100% 6>�0@K 1>;�0= :575§=і§ ±70�BK�K 155-160 :¯=. �K;K 
:575§45 100-130 << 60CK=-H0HK= B¯A54і, 6K;K=0 240-260 <<. �O7AK7 :575§ Ý45BB5 145-
155 :¯==5= 0A?094K. &±@0�BK �0@ 60<K;�KAK 10@ �KA H0<0<5= Bí@B 09�0 A>7K;04K. 
&±@0�BK �0@ 60<K;�KAK 10@ :575§=і§ ±70�BK�K 110-120 :¯=, 0; �0@ 60<K;�KAK=K§ 
>@B0H0 18і:Bі3і 20-25 A<-45= 0A?094K, :í:B5<3і 40;0 6±<KAB0@K=K§ 10AK=40 B>?K@0�BK§ 
<5B@;і: �010BK=40�K K;�0; �>@K 80 <<-45= 0A?094K. 

"1;KABK§ ¯Hі=Hі B018�8-:;8<0BBK� 15;45Cі :¯@B �±@�0�, KABK� Hí;4і 40;0;0@, 
60@BK;09 Hí;45@ <5= Hí;45@ 09<0�K. �±; 09<0�B0�K HTC 0,3-0,2 0@0;K�K=40 1>;04K. 
100% 6>�0@K 0C0 B5<?5@0BC@0AK=K§ �>AK=4KAK 3000-34000%-�0 B5§. �K;K :575§45 
60CK=-H0HK= 100-120 <<, 6K;K=0 190-=0= 230 <<-35 459і= B¯A54і. �O7AK7 :575§ 160-180 

:¯=35 A>7K;04K.&±@0�BK �0@ 60<K;�KAK 10@ :575§=і§ ±70�BK�K 80-105 :¯=. �0@ 
60<K;�KAK=K§ 5§ 6>�0@K >=:¯=4і: 18і:Bі3і=і§ >@B0H0 <Ý=і 10-15 A<, 5§ Bí<5=3і 18і:Bі:B5 
�0@ 60<K;�KAK 1,5-2 09�0 A>7K;04K. �±; 09<0�B0 607�K 60CK=-H0HK= <í;H5@і íB5 
B±@0�AK7. ";0@4K§ A0=K 6K;40= 6K;�0 :¯@B í735@і? >BK@04K, :í1і=5A5 5:і =5<5A5 ¯H 09 
іHі=45 5 <<-45= 0A?094K. 
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�0BKA �070�AB0= >1;KAK=40�K B>?K@0�BK§ 03@>M:>;>38O;K� 60�409K B>?K@0�BK§ 
=53і73і A0?0AK – �±=0@;K;K�K=0 15;3і;і 1і@ ÝA5@ 5B5Bі= E8<8O;K�, D878:0;K�, 
18>;>38O;K� 6Ý=5 0=B@>?>35=4і: D0:B>@;0@ :5H5=і<5= 0=K�B0;04K. 
�8>AD5@0 >1J5:Bі;5@і=5 �0BKABK >;0@ Ý@B¯@;і M:>;>38O;K� D0:B>@;0@ B¯@і=45 Ý@5:5B 
5B54і, >;0@4K§ 5§ <0§K74KAK B018�8-:;8<0BBK� 6Ý=5 B5E=>35=4і:. 

&018�8-:;8<0BBK� >@B0 D0:B>@;0@K B>?K@0�BK§ B±740=C, 10B?0�B0=C, 65; 6Ý=5 AC 
M@>78OAK B¯@і=453і 453@040F8O ?@>F5AB5@і= 0=K�B094K. �0BKA �070�AB0= >1;KAK=40 
60;?K 0CK; H0@C0HK;K�K 0;�0?B0@K=K§ (12 755,9 <K§ 30) B5: 1 415,9 <K§ 35:B0@K B5@іA 
15;3і;5@і 1>9K=H0 0A�K=10�0= 6Ý=5 53і=Hі;і::5 60@0<4K 45? 6і:B5;54і. �0;�0= 0C<0�B0@ 
Ý@B¯@;і 453@040F8O�0 ±HK@094K. �§ <0§K74K B>7�0= <5;8>@0F8O B>?B0@K=0 A>@B0§ – 
6722,4 <K§ 30, ACAK740=�0= – 1900,6 <K§ 30, B±74K – 1313,9 <K§ 30, AC 10A�0= – 318,9 <K§ 
30, H09K;�0= – 255,1 <K§ 30 AC 6Ý=5 65; ÝA5@і=5= – 178  <K§ 35:B0@. 

"1;KABK§ 10@;K� 45@;і: 0C<0�K= :0HB0= B5:B5A B>?K@0�B0@ 0;K? 60BK@: 
A>@B0§4K;K�K, A>@B0§4K�K, :0@1>=0BBK;K�K Ý@ B¯@;і 4Ý@565453і �0@0 :0HB0=, :0HB0= 
6Ý=5 0HK� :0HB0= B>?K@0�B0@K H0;�K=4K-:0HB0= B>?K@0�B0@K<5= ¯9;5A5Bі= 6Ý=5 
A>@B0§40@<5= 0@0;0A. 

&>?K@0�B0@4K§ <5E0=8:0;K� �±@0<K =53і7і=5= 0CK@ A074K, 1і@0� >@B0H0 A074K, 
65§і; A074K 6Ý=5 �±<4K B>?K@0�B0@ 10@. 

�0@0 :0HB0= B>?K@0�B0@K >1;KABK§ =53і73і 0CK; H0@C0HK;K�K �>@K= �±@094K 
6Ý=5 2295 <K§ 30 0C<0�BK 0;K? 60BK@. ";0@4K§ іHі=45 �0@0 :0HB0= :0@1>=0BK, �0;4K� 
:0@1>=0BBK 6Ý=5 A>@B0§40@ 10@. ";0@4K§ <5E0=8:0;K� �±@0<K A0740= �±<4K A07�0 459і=, 
Bі?Bі �±<4K. 

�:і=Hі B018�8-:;8<0BBK� 15;45C45 B>?K@0�BK§ 75%-40= 0AB0<K Bí@B <¯H5;і 
:5H5= B¯@і=45 15@і;35=. &>?K@0� 60<K;�KAK Bí@B B>?K@0� A>@BK<5= ±AK=K;�0=: - 10-

30% <8:@>18і:Bі:B5 40<K�0= �K@BKABK 6Ý=5 <0940 A>@B0§40@; >9?0BB0@40�K H0;�K=4K-

:0HB0= B>?K@0�B0@K<5= �>AK=4K40 (5-B5= 30%-�0 459і=); Ý@B¯@;і 4Ý@565453і :0HB0= 
B>?K@0�B0@K<5=, <8:@>15B:59;5@45 A>@B0§, 5-B5= 20% -�0 459і=3і >9?0§40@<5=; 6Ý=5 
0HK� :0HB0= B±74K;K�K Ý@B¯@;і, :5945 Bі?Bі B0C;K 09<0�B0@40 20-40= 55% -�0 459і= 
B±74K. 

,í;4і 09<0�B0 (¯Hі=Hі 15;45C) �>§K@ B>?K@0�B0@ 10AK<.  ±=40�K 0C0 
B5<?5@0BC@0AK=K§ 6>�0@K;K�K <5= 60CK=-H0HK==K§ 07 1>;CK 53і=Hі;і:Bі§ 
<¯<:і=4і:B5@і= :¯@B H5:B594і. 

�>§K@ B>?K@0�B0@40 3C<CABK§ 3>@87>=BK Ý;Aі7 (20-40 A< H53і=45), B018�8 
�±=0@;K�K Bí<5=. ";0@4K§ �±@0<K=40 1-1,5% �0@0Hі@і: 10@ 6Ý=5 =53і73і �>@5:Bі: 
70BB0@4K§ 6K;6K<0;K B¯@і=45 =0H0@. �>§K@ B>?K@0�B0@ =53і7і=5= 609K;K< @5Bі=45 
?0940;0=K;04K. 

�і@і=Hі B018�8-:;8<0BBK� 15;45C45 �±=0@;K;K�K 1>9K=H0 1і@і=Hі >@K=40 
H0;�K=4K-:0HB0= B>?K@0�B0@K, 5:і=Hі >@K=40 >§B¯ABі: �0@0 B>?K@0�B0@, ¯Hі=Hі >@K=40 
�0@0 :0HB0= �0;K?BK B>?K@0�B0@ >@=0;0A�0=. 

&>?K@0�B0@4K§ 3C<CABK 60�409K=K§ ±70� <5@7і<4і :í@A5B:іHB5@і= A0;KABK@C 
>;0@4K§ �±=0@;K;K�K=K§ =53і73і :í@A5B:іHB5@і=і§ 5;5C;і í735@іAB5@і= :í@A5B54і. 
�=B@>?>35=4і: D0:B>@;0@4K§ ÝA5@і=5= B>?K@0�BK§ 03@>D878:0;K� 6Ý=5 03@>E8<8O;K� 
�0A85BB5@і 09B0@;K�B09 =0H0@;04K. 

�07і@3і C0�KBB0 53іABі: 0;�0?B0@K=K§ =0�BK 60�409K 11,5% íB5 Bí<5= 6Ý=5 87,7% 
�0@0Hі@і:Bі§ Bí<5=4і3і<5= ±AK=K;�0=. &>?K@0�BK§ 99,5% 07>B <í;H5@і íB5 Bí<5= 6Ý=5 
Bí<5=, B>?K@0�BK§ 85,3% -K=40 �>;40 10@ D>AD>@ íB5 Bí<5= 6Ý=5 Bí<5=, 0; B>?K@0�BK§ 
93,6% -K=40 :0;89 300 <3/:3-=0= Bí<5=. 
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�07і@3і C0�KBB0 �0BKA �070�AB0= >1;KAK=K§ 0CK;H0@C0HK;K�K í=4і@іAі=5 
60¿0=4K� 6Ý=5 65@3і;і:Bі :;8<0BBK� 6K;K=C ?@>1;5<0AK 09B0@;K�B09 ÝA5@ 5BC45. 
�±@�0�HK;K� 68і;і3і=і§ 0@BCK íAі@і;5Bі= 40�K;40@�0 :5@і ÝA5@і= B83і7і?, >;0@4K§ 
í=і<і=і§ B±@0�AK74K�K= BC4K@4K. 

"@0; 0CK;H0@C0HK;K� BÝ6і@815 AB0=F8OAK=40 6¯@3і7і;35= B0;40C�0 AÝ9:5A, 
í§і@453і �>;09;K 6K;40@4K§ (�C0§HK;K�AK7) ?09K7K =51Ý@і 5 ?09K74K �±@094K. �0A�0 
6K;40@K �±@�0�HK;K�BK§ 15A B¯@і=і§ 1і@і =5<5A5 >;0@4K§ :><18=0F8OAK 109�0;04K, 0; 
�±@�0�HK;K�BK§ �0@�K=4K;K�K Ý@B¯@;і 1>;CK <¯<:і=: >@B0H040= íB5 :¯HBі35 459і=. 

�07і@3і C0�KBB0 �±@�0�HK;K�BK§ :57 :5;35= B¯@і=і§ ?0940 1>;CK= 1>;60C �8K=, 
1і@0� H0@C0HK;K�B0@40 B5: 1і@ 40�K;4K§ (6074K� 184094K§) 10AK< 1>;CK 0CK; 
H0@C0HK;K�K=K§ B±@0�BK í=4і@іAі<5= 109;0=KABK BÝC5:5;4і 09B0@;K�B09 0@BBK@0BK=K= 
A5=і<4і B¯@45 0B0? íBC35 1>;04K. 

�±@�0�HK;K�?5= B8і<4і :¯@5AC ¯Hі= >;0@4K§ :í@і=іAB5@і=і§ =53і73і B¯@;5@і= �0=0 
5<5A, A>=K<5= �0B0@ 15;3і;і 1і@ 0CK; H0@C0HK;K�K 40�K;40@K=0 ÝA5@ 5BC 4Ý@565Aі= 45 
60�AK 1і;C �065B. 

�0BKA �070�AB0=40 68і;і3і 1>9K=H0 5@B5 :í:B5<3і 40�K;40@ ¯Hі= 5§ �0Cі?BіAі 5@B5 
:í:B5<3і 6Ý=5 :í:B5<3і-607�K �±@�0�HK;K� 1>;K? B01K;04K. �±; �C0§HK;K�B0@ 6074K� 
18409 <5= 0@?040 �09B0;0<0 B0<K@ 6¯95Aі=і§ �0;K?B0ACK=0 :5@і ÝA5@і= B83і754і, A>; 
0@�K;K >AK 40�K;40@4K§ 607�K 60CK=-H0HK=4K >40= Ý@і 60�AK ?0940;0=C <¯<:і=4і3і= 
H5:B594і, A>=K<5= 1і@35 >;0@4K§ í=і<і=і§ :¯@B Bí<5=45Cі= �0<B0<0AK7 5B54і. �±; 
�±@�0�HK;K�B0@ ÝAі@5A5 B>?K@0�B0 í=і<4і K;�0;4K§ 07 �>@K 1>;�0= :5745 �0Cі?Bі. 
%>=K<5= �0B0@, BK§09�0= 65@35 53і;35= :¯74і: 40�K;40@ 1±; �±@�0�HK;K��0 >§09 
HK4094K. �¯=10�KA 6Ý=5 :5H 6074K� 40�K;40@ (B0@K, �±<09) 1±; �±@�0�HK;K��0 07 
<í;H5@45 60C0? 15@54і. 

�±@�0�HK;K�BK§ 607�K B¯@і 6074K§ 5:і=Hі 60@BKAK= �0<B84K 6Ý=5 6074K� 
18409�0 4Ý=4і B>;BK@C :575§і=45, 0; :59і=3і B¯@;5@і – :í15N <¯H5;5@і=і§ 40<CK <5= 
3¯;45=C :575§і=45 ÝA5@ 5B54і. �±@�0�HK;K�BK§ 1±; B¯@і >@K= 0;�0= :5745 :¯74і: 40�K;40@ 
<5= 0@?0 í7і=і§ 2535B0F8O;K� :575§і= 0O�B04K, A>=4K�B0= �±@�0�HK;K�BK§ 1±; B¯@і 1±; 
40�K;40@ ¯Hі= �0Cі?Bі 5<5A. 

�і@і:Bі@і;35= =5<5A5 ¯7і:-¯7і: �±@�0�HK;K� 0CK;H0@C0HK;K� 40�K;40@K=K§ 
2535B0F8O;K� :575§і=45 Ý@B¯@;і C0�KBB0 >@K= 0;04K 6Ý=5 K;�0;4K :575§45@<5= 0;<0AK? 
>BK@04K, >;0@4K§ 1>;CK íAі<4і:B5@4і§ �>;09AK7 �±@�0� :575§45@45= �0;?K=0 :5;Cі=5 
<¯<:і=4і: 15@54і. 

�±@�0�HK;K�BK§ B±@0�BK B¯@і :í?B535= <Ý45=8 40�K;40@ ¯Hі= 5§ �0Cі?Bі 1>;K? 
B01K;04K. �±@�0�HK;K�BK§ 1±; B¯@і <0<K@ 09K=40 10AB0;K?, 607�K <0CAK<=K§ A>§K=0 
459і= 60;�0A04K. �±@�0�HK;K�BK§ 1±; B¯@і=5 B5: :¯74і: 40�K;40@ <5= <0�A0@K 40 B8і<4і 
�0@AK B±@0 0;04K. 

�07і@3і C0�KBB0 B0=0?B0@4K§ Bí<5= í=і<4і;і3і=і§ =53і73і A5151і Ý@B¯@;і 
18>;>38O;K� B>?B0@4K§ 6>�0@K í=і<4і 53іABі: 40�K;40@K=K§ 09B0@;K�B09 Ý@B¯@;і;і3і 
45@;і: 6>� 53іABі: 0;�0?B0@K=K§ �0;K?B0A�0= �±@K;K<K 1>;K? B01K;04K. ì=4і@іAB5 
=53і7і=5= 1і@ �0=0 40�K;4K (6074K� 18409) :5§і=5= �>;40=C �±@�0�HK;K��0 459і= =5<5A5 
>40= :59і= B¯A5Bі= 60CK=-H0HK=4K B>;K� ?0940;0=C�0 <¯<:і=4і: 15@<594і, 0; 0CK; 
H0@C0HK;K�K=K§ =53і73і 70§4K;K�B0@K=K§ 1і@і – 65<іABі 0;<0ABK@C 70§K= 1±7C 
�>@5:Bі: 70BB0@4K§ 1і@ 60�BK 6>9K;CK=0, 45<5:, <8=5@0;4K BK§09B�KHB0@4K 5=3і7C4і§ 
іA 6¯7і=45 B>;K� 1>;<0CK 60�409K=40 B>?K@0�BK§ B018�8 �±=0@;K;K�K=K§ >40= Ý@і 
Bí<5=45Cі=5 Ý:5;54і. 
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��Ы ���Ы �'Ы� Ш�$'�ШЫ�Ы� �Ы�Ы!Ы¦ �$��Ш��І�&�$І 
�Ü!� 2025 �Ы��Ы ��&Ы% �����%&�! "��Ы%Ы!���Ы �®&І���! 

&"#Ы$�� Ы�����Ы� �"$��$Ы!Ы¦ �"��� Ы 

 

��K<40�K 0CK; H0@C0HK;K�K 6K;K=40 :¯74і: 40�K;40@4K ±AK=K;�0= <5@7і<45 
A51C :57і=45 0A0 �>;09AK7 B018�8-:;8<0BBK� 60�409;0@ �0;K?B0ABK. 
1 �5AB5 -  5B5>@>;>38O;K� :í@A5B:іHB5@ (20246) 

�9;0@ �í@A5B:іHB5@ 
�0CK=-H0HK=, << �C0 B5<?5@0BC@0AK, 00%  

>@B. 
09;K� >@B.:í?6K;4K� 0CKB�C >@B. 

09;K� >@B.:í?6K;4K� 0CKB�C 

<0CAK< 47,9 33 14,9 23,8 20,9 2,9 

Hі;45 39,1 40 -0,9 24,2 22,9 1,3 

B0<K7 30 27 3 21,1 21,1 0,0 

�K@:¯95: 0 29 -29 15,3 14,5 0,8 

�070= 30,7 39 -8,3 8,1 6,5 1,6 

�0@0H0  32,8 28 4,8 0,4 -2 2,4 

 

,і;45 6Ý=5 B0<K7 09;0@K=40 60CK=-H0HK==K§ :í?6K;4K� >@B0H0 45@5:B5@ 
45§359і=45 Bí<5=45Cі=5 �0@0<0AB0=, 5:і 094K§ іHі=45 10@;K�K 48 <<, 6>�0@K B5<?5@0BC@0 
D>=K=40�K D@0:F8O;K� 60CK=-H0HK= 1C 0;�01K=40 65B:і;і:Bі K;�0; �>@K=K§ 
�0;K?B0ACK=0 K�?0; 5B:5= 6>�. &>?K@0�BK§ 0-20 A< �010BK=40 K;�0; �>@K 8,5-21,5 << 
1>;4K, BK§09�0= B0=0?BK 409K=40C4K§ Ý@B¯@;і Ý4іAB5@і ¯Hі= >§B09;K <Ý=45@і 18-45= 48 
<<-35 459і= (2 :5AB5) 

 

2 �5AB5 - Ü@B¯@;і 45<0;�0= 65@;5@4і í§45C B5E=>;>38O;0@K :57і=45 B>?K@0�BK§ 
K;�0;4K;K�K 

�5<0;�0= 65@;5@4і 
409K=40C B¯@;5@і 

&>?K@0�BK 
>§B09;K 

K;�0;4K;K�K 

(0-20 A< �010B), 
<< 

&>?K@0�BK§ =0�BK 
K;�0;4K;K�K (0-20 

A< �010B)  
30.08.20176, << 

,0@BB0@4K§ 
A0?0;K� 

A8?0BB0<0AK 

�ÝAB¯@;і (�>?AKBC 25-27 

A<) 

18-48 

21,5 �0=0�0BB0=4K@0@;K� 

 8=8<0;L4K (22-24 A< 
B53іA :5Aі? í§45C)  17,8 �0=0�0BB0=4K@0@;K� 

�@0;0A (:C;LB820F8O  
12-15 A< + E8<.í§45C) 8,5 ìB5 �>;09AK7 

!í;4і: (E8<8O;K�)  8,7 ìB5 �>;09AK7 
 

&>?K@0�B0�K K;�0; �>@K �0=0�0BB0=0@;K� 1>;A0 A51C �0Cі?Bі 45? A0=0;04K, 0; íB5 
�0=0�0BB0=0@;K�AK7 1>;A0, 53іABі::5 6>; 15@і;<59Bі=і 0=K�B0;4K. 

�;0940 �K@:¯95: 09K 5@5:H5 �±@�0�, 60CK=-H0HK=AK7 1>;4K. �591і@ 53іABі: 
0;�0?B0@K=40 :íH5BB5@ 0;K=104K. �070= 09K <5= �0@0H0=K§ 60@BKAK 0740�0= 60CK=-

H0HK=<5= 1і@35 6K;K 0C0 @09K<5= 5@5:H5;5=4і. 
�¯74і: 40�K;40@ �KAB0C�0 459і= Ý;Aі@535= :¯945 1>;4K, 2535B0F8O;K� :575§45 

B>;K� í§45C D070AK=0 65BC ¯Hі= H0<0<5= 20-25 :¯= 65BіA?54і, 4Ý;і@5: >;0@40 
íAі<4і:B5@4і§ �KAB0C :575§і=45 <0§K74K @í; 0B�0@0BK= M=5@35B8:0;K� 70BB0@ (�0=B) 
?@>F5AB5@і 68=0�B0;04K. 
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 ±=409 40�K;40@4K§ AÝBBі �KAB0CK=K§ >§ D0:B>@K �0@ �010BK=K§ 18і:Bі3і= >40= 
Ý@і 0@BBK@C 48=0<8:0AK 10@ 0740? <±740BK;�0= B>?K@0�B0 B±@0�BK �0@ 60<K;�KAK=K§ 
(15-20 A<) �0;K?B0ACK 1>;CK <¯<:і=. ��?0= 09K=40 53іABі:Bі§ Ý;Aі@5Cі=, �09B0 íACі= 6Ý=5 
:¯Bі;5Bі= í=і<4і;і:Bі§ 40-50%-�0 6>�0;CK= 1>;60C�0 1>;0BK= 54і. 

�@B5 :í:B5<45 :¯74і: 40�K;40@4K @50=8<0F8O;0C�0 409K=40;C :5@5:.  
�¯74і: 53іABі§ 60�409K �0=0�0BB0=0@;K�AK7 1>;A0 (75%-40= 0AB0< í=і< 65BіA?594і) 

>=K í§45?, 6074K� 40�K;4K§ �0=409 40 1і@ B¯@і<5=, 60�AK@0� 0@?0<5= 53і? 0;�0= 4±@KA. 
�¯74і: AK=040 >H0�BK B0�K@;0@ ?0940 1>;�0= 60�40940 (53іABі: 0;�0?BK§ 10-=0= 

30%-�0 459і=) >AK 40�K;4K§ B0C0@;K 4Ý=і= 0;C ¯Hі= 6074K� 18409<5= �09B0 53C35 
1>;04K. �535=<5=, 5:і 60�40940 40, 535@ í=і<4і K;�0;4K§ ¯;:5= �>@K 1>;A0, 1±; Ý@5:5BB5@ 
0�B0;04K. �±; 60�40940 >1J5:B82Bі :í@A5B:іH B>?K@0�BK§ 1,0 < 6Ý=5 >40= 40 B5@5§35 
459і= AC;0=CK 1>;4K. 

ìB:5= 6K;40@4K§ >§ BÝ6і@815Aі=5 =070@ 0C40@�0= 6í=, 4Ý; >AK=409 60�409;0@40 
B>;K� íA:і=45@4і§ 0;K=10CK 6Ý=5 40�K;40@4K§ A8@5:Bі3і, 5@B5 :í:B5<45 2535B0F8O;K� 
:575§і �KA�0 6074K� <09;K 40�K;40@<5= (�KH0, 6074K� B¯9560?K@0�) 53іA 53C 6¯@3і7і;4і, 
=ÝB865Aі=45 B±�K<4K� <0B5@80;40 >§09 1í;і=54і. �±; 60�40940 :¯74і: 40�K;40@4K A51C 
:57і=45 >@B0H0 BK@<0;0@<5= �>A0@;0=�0= BK@<0;0@4K 3-4 :¯= 0@0;K�?5= 6¯@3і754і, A>40= 
:59і= >;0@, <KA0;K, :¯74і: 40�K;40@4K§ A8@5:Bі3і=5 �0@09 4-B5= 6 :3/30 A51C =>@<0AK=40 
�KH0 A5154і. �:і :¯= A09K= 40�K;40@ A0�8=0;K HK�K@HK�B0@4K ?0940;0=K? B0?B094K. 

�7>BBK BK§09B�KHB0@4K <±7 �K@BKAK=K§ ¯ABі=5 B0@0BC 0@�K;K BK§09BC A8O�BK 
<0§K74K B5E=8:0 40 <0§K74K @50=8<0B>;>3 �K7<5Bі= 0B�0@04K. 

�¯74і: 40�K;40@4K§ �KAB0 :¯9і= 10�K;0C 40�K;40@4K§ í<і@H5§4і3і= 0;4K= 0;0 
0=K�B0C�0 6Ý=5 >;0@4K :í:B5<3і :¯BC H0@0;0@K= 6>A?0@;0C�0 <¯<:і=4і: 15@54і. 

�074K� 40�K;40@4K A51C4і§ >§B09;K <5@7і<45@і 1>9K=H0 1>;60<40@ <5= 
±AK=KAB0@ 15@і;35= 6K;4K§ 60�409K=40 5§ :í? í=і< 0;C�0 K�?0; 5B54і. �5;3і;і 
1>;�0=409, 53іA 0;�0?B0@K= �0@ 60<K;�KAK=0= B070@BC, :í:B5<45 B>?K@0�BK§ �±@�0?, 
6K;K=CK :í?B535= D0:B>@;0@�0 109;0=KABK. ";0@4K§ =53і73і;5@і 0C0 B5<?5@0BC@0AK, 
�0@4K§ �0;K§4K�K, B>?K@0�BK§ �0BC B5@5§4і3і, �0@4K§ 5@C 6K;40<4K�K, B>?K@0�BK§ 
K;�0;�0 �0=K�CK. �3іABі: 6±<KAB0@K <5= :í:B5<45 5@B5 :í:B5<3і 40�K;40@4K A51C 
53іABі:B5@453і B>?K@0� «?іA:5=» =5<5A5 6±<A0� ?;0AB8:0;K� :¯935 65B:5=45 �0=0 
10AB0;CK <¯<:і=. 

 �í:B5<45 B>?K@0�BK§ 6±<A0� ?;0AB8:0;K� :¯9і 1>;0BK= :575§ �KA�0 (10-20 :¯=) 
1>;�0=4K�B0=, �>;09;K AÝBBі 6і15@і? 0;<0C 6Ý=5 53іABі: 6±<KAB0@K= C0�BK;K 6¯@3і7C, 
A>=K§ іHі=45 5@B5 :í:B5<3і 40�K;40@4K A51C íB5 <0§K74K. �074K� 40�K;40@4K >§B09;K 
C0�KBB0 A51C :57і=45 607K� 65@;5@45 :íH5BB5@4і§ 0O740= 70�K<40=C �0C?і іA 6¯7і=45 6>�. 
"§B09;K C0�KB?5= A0;KABK@�0=40 53іABі§ 10-14 :¯=35 :5Hі3Cі 0ABK� í=і<4і;і3і= 1і@ 
60@K<-5:і 5A535 Bí<5=45B54і. 

&±B0AB09 0;�0=40, �KAB0C�0 HK�0@ 0;4K=40 B>?K@0�B0�K K;�0; �>@K<5= �>;09AK7 
60�409 �0;K?B0ABK. ";0@ Ý@B¯@;і 0CK;H0@C0HK;K� B>?B0@K 1>9K=H0 =>@<040= 25-30% 

Bí<5=. 
�070�AB0= $5A?C1;8:0AK=K§ <5<;5:5BBі: <5B5>@>;>38O;K� �K7<5Bі=і§ <Ý;і<5BB5@і 

1>9K=H0, B>?K@0�B0�K í=і<4і K;�0; �>@K= 0=K�B0C 1>9K=H0 <0@H@CBBK� 75@BB5C;5@ 
B>?K@0� �0BC 6Ý=5 �0@ 60<K;�KAK=K§ �0;K?B0ACK 10AB0;�0=�0 459і= :5Hі:Bі@і;35= 
<5@7і<45 6¯@3і7і;4і, A>=4K�B0= 6±<KA <5@7і<і 2024 6K;4K§ 4 �070=K=0= 25 �0@0H0AK=0 
459і= Ý@B¯@;і :¯=45@35 AÝ9:5A :5;54і. 
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3 �5AB5 - 2024 6K;4K§ :¯7і=45 6¯@3і7і;35= <0@H@CBBK� 75@BB5C;5@35 AÝ9:5A B>?K@0�B0�K 
í=і<4і K;�0; �>@K (file:///C:/Users/user/Downloads/674ddc281c945spravka-vlagozapasy-2024-i-2023-1--

1.pdf) 

®;3і  
№  

��"  
0C40=40@K 

�3@>D>= 
&>?K@0� 

(35=578ABі: 6Ý=5 <5E.�±@0<) 

&>?K@0� �010BK 

0-50 A< 0-100A< 

�4FыE �4;4�EF4A B5?ыEы 

1 &5@5:Bі 7O1L �0@0 :0HB0=.>@B.A074K 38-46 53-70 

2 &5@5:Bі AB5@=O �0@0 :0HB0=.0CK@ A074K 19-26 39-57 

3 &5@5:Bі 6K@BK;�0= 65@ �0@0 :0HB0=.0CK@ A074K 33 75 

4 %K@K< 7O1L �0@0 :0HB0=. 0CK@ A074K 16-26 16-26 

5 %K@K< AB5@=O �0@0 :0HB0=. 0CK@ A074K 10-15 10-15 

6 �09B5@5: 7O1L 0HK� :0HB0=. �±<4K A07 1-11 30-37 
7 �09B5@5: :¯74і: 18409 0HK� :0HB0=. �±<4K A07 5-7 15-20 
8 �09B5@5: :¯74і: 18409 �0@0 :0HB0=. 0CK@ A074K 41-47 117-121 

9 �09B5@5: AB5@=O �0@0 :0HB0=. 0CK@ A074K 16-28 53-60 

10 "@0; �. AB5@=O �0@0 :0HB0=. 0CK@ A074K 14-21 17-25 

11 "@0; �. 7O1L �0@0 :0HB0=. 0CK@ A074K 22 29 

12 &0A:0;0 7O1L �0@0 :0HB0=. 0CK@ A074K 2-10 2-59 

13 &0A:0;0 AB5@=O �0@0 :0HB0=. 0CK@ A074K 2-9 18-54 

14 ,K=�K@;0C :¯74і: 18409 �0@0 :0HB0=. 0CK@ A074K 11-13 21-29 

15 ,K=�K@;0C AB5@=O �0@0 :0HB0=. 0CK@ A074K 22-34 48-56 

 

�KA <573і;і=5 459і= B>?K@0�B0�K í=і<4і K;�0; �>@K=K§ 10@;K� :í@A5B:іHB5@і 
65B:і;і:Aі7 45? A8?0BB0;04K. 

��K<40�K 0CK; H0@C0HK;K�K 6K;K=K§ ACK� :575§і=45 37,2 << �0BBK 60CK=-

H0HK= B¯ABі, 1±; =>@<0=K§ 67,6% �±@094K. &±@0�BK 5@C;5@4і§ 0@�0AK=40 B>?K@0�B0 іA 
6¯7і=45 5H�0=409 �0@ 60<K;�KAK �0;K?B0A?0�0=. &>?K@0� 15Bі=і§ 60@BKAK=0 6CK�K 
�0@<5= 601K;�0=, :59 65@;5@45 18і:Bі3і 2 A<-35 459і= 65B54і 

 �í:B5<3і 40;0 6±<KAB0@K= 6¯@3і7C :575§і=453і ìЫ� 5A5?B5C;5@і >1;KABK§ 
10AK< B5@@8B>@8OAK=40 65B:і;і:Aі7 (70-80 <<), 0; :591і@ 0C40=40@40 – <5B@;і: B>?K@0� 
�010BK=40 (60 <<-35 459і=) K;�0; �>@K=K§ AK=8 65B:і;і:Aі74і3і :¯Bі;5Bі=і= :í@A5B54і. 

�84@><5B5>@>;>38O >@B0;K�K=K§ 1>;60<K 1>9K=H0 (https://world-

weather.ru/pogoda/kazakhstan/oral/march-2025/) 2025 6K;4K§ :í:B5<і 1і@H0<0 A0;�K= 6Ý=5 
:¯= 0HK� 1>;04K. 2024 6K;4K§ :í:B5<і<5= A0;KABK@�0=40 2025 6K;4K§ :í:B5<і �±@�0� 
1>;04K. "@B0H0 0;�0=40, 1і@ <0CAK<40 11 :¯=35 459і= 60CK=-H0HK= :í? 1>;04K 45? 
:¯Bі;C45. �í:B5<=і§ >@B0H0 B5<?5@0BC@0AK 6°%, 1±; 2024 6K;4K§ :í:B5<і=5 �0@0�0=40 
<0CAK<4K 6K;K 5<5A 5B54і. 2025 6K;4K§ :í:B5<і=45 7°%-B0= 6>�0@K B5<?5@0BC@0 
:¯=45@ A0=K 51 :¯=, 0; 5°% Bí<5= - 34 :¯=. 

!0C@K740 >@B0H0 B5<?5@0BC@0 -5°C 1>;04K. �0CK=-H0HK= �KA�0 <5@7і<4і 
1>;04K, 5-6, 13-14 =0C@K740 0C40=40 �KA�0 60C04K 45? 1>;60=C40. 

%ÝCі@4і§ 10AK=40 A0;�K=, K;�0;4K 0C0 @09K :¯Bі;54і. �591і@ :¯=45@і B5@<><5B@ 
22°C 459і= :í@A5B54і, 1±; 2024 6K;4K§ AÝCі@і<5= A0;KABK@�0=40 Bí<5=.  0CAK<=K§ 
>@B0AK=40 60CK=-H0HK= 07 1>;04K, >=K§ 10AK< 1í;і3і 6-7 AÝCі@45 B¯A54і. 

 0<K@4K§ >@B0H0 B5<?5@0BC@0AK 14°%. �94K§ 5§ 6K;K :¯=і 11 <0<K@40 0C0 
B5<?5@0BC@0AK 24°C, 5§ ACK� :¯=і 25 <0<K@40 >@B0H0 BÝC;і:Bі: B5<?5@0BC@0 H0<0<5= 2°C 
1>;04K.  0<K@ 09K=40 60CK=-H0HK= 1>;<094K. 
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file:///C:/Users/user/Downloads/674ddc281c945spravka-vlagozapasy-2024-i-2023-1--1.pdf


10 

 

�'Ы%#��Ы ��І% �®��%І 
 

�0BKA �070�AB0==K§ 0CK; H0@C0HK;K�K í=4і@іAі=45 B070 BK§09�0= 53іABі: 
0CKA?0;K 53іAB5@і @5AC@A ¯=5<459Bі= B5E=>;>38O;0@4K§ B01KABK 40<CK=K§ :5?і;і 1>;K? 
B01K;04K. ";0@ 0ABK�BK§ B±@0�BK í=4і@іAі= �0<B0<0AK7 5B54і 6Ý=5 BK§09B�KHB0@ <5= 
íAі<4і:B5@4і �>@�0C �±@0;40@K=0 5§ 07 HK�K=40@<5= 6>�0@K 45§35945 B8і<4і B>?K@0� 
�±=0@;K�K= A0�B0C�0 �01і;5BBі. &070 BK§09�0= 65@;5@453і B±@0�BK �>;09;K B>?K@0� AC 
@568<і 6K; A09K= B>;K��0=4K :íH5BB5@4і í=4і@C35 6Ý=5 :¯74і: 40�K;40@4K§, A>=409-0� 
0CKA?0;K 53іAB53і 10A�0 40 40�K;40@4K§ :59і==5= 60�AK 40<CK=0 60�409 60A094K. 

&070 BK§09B�KHBK, >=K§ іHі=45 @>:5@ BK§09�0=K= >§B09;K �0=K�BK@C<5= 53іABі: 
0CKA?0;K 53іAB5@і=і§ <0§K74K 0@BK�HK;K�K 40�K;40@4K 0@0<Hí?B5@45= �>@�0C ¯Hі= 
E8<8O;K� 70BB0@4K H5:B5C;і �>;40=C 0@�K;K 40�K;40@4K§ 0@0<Hí?B5@і=і§ Bí<5= D>=K= 
A0�B0C �01і;5Bі 1>;K? B01K;04K. 

"@0; 0CK;H0@C0HK;K� BÝ6і@815 AB0=F8OAK=K§ :í?6K;4K� <Ý;і<5BB5@і 1>9K=H0 
�KA�0 0CKA?0;K 53іABі: 53іABі:B5@і 1 35:B0@ 53іABі: 0;�0?B0= 5§ 6>�0@K 0ABK� í=і<і= 
15@54і. �±; 0CKA?0;K 53іAB5@ 6>�0@K í=і<4і;і: B±@0�BK;K�K<5= 6Ý=5 M=5@38O 
HK�K=40@K=K§ �09B0@K<4K;K�K<5= A8?0BB0;04K. 

"1;KABK§ 10@;K� 09<0�B0@K=40 0C<0�BK§ 18>:;8<0BBK� Ý;5C5Bі= �0@0 6Ý=5 
BK§09�0= 65@;5@45 íAі@5Bі= :¯74і: 40�K;40@ 60�AK@0� ?0940;0=04K. �>;40 10@ 
<Ý;і<5BB5@35 �0@0�0=40, �0@0 B09�0�B0�K :¯74і: 184094K§ >@B0H0 í=і<4і;і3і 25,6 F/30, 
:¯74і: �0@0 18409 26,8 F/30 �±@04K, 1±; 6074K� 1840940= 2,3-2,4 5A535 0@BK�. 

�±; @5BB5 K;�0; @5AC@AB0@K= ¯=5<459Bі= B5E=>;>38O=K ?0940;0=0 >BK@K?, 
BK§09�0= 0;�0?BK í§45C4і§ 60§0 6¯95Aі 6074K� 184094K 1C 0@�K;K íAі@C <¯<:і=4і:B5@і= 
B¯15359;і í735@B54і. �591і@ 4ÝAB¯@;і <5E0=8:0;K� :í:B5<3і-607�K 1C<5= í§45C4і 
E8<8O;K� í§45C<5= (35@18F84Bі: 45<0;�0= 65@) 0CKABK@C 1C í@іAі=і§ =53і73і 
<0�A0BB0@K=0 – �0;4K�B0@4K 10@K=H0 B070@BC�0 6Ý=5 K;�0;4K 68=0C�0 – 07 M=5@38O 6Ý=5 
�0@6K;K� HK�K=40@<5= �>; 65B:і7C35 <¯<:і=4і: 15@54і. 

"AK;09H0, 60§0 65Bі;4і@і;35= BK§09B�KH B5E=>;>38O;0@4K ?0940;0=C 6074K� 
184094K§ 18>;>38O;K� <¯<:і=4і:B5@і= :5§59Bі?, >=K �±@�0�HK;K��0 >A0; 5B54і. 

$5AC@A ¯=5<459Bі= B5E=>;>38O=K§ B>;K� 6Ý=5 B01KABK 40<CK<5= 6Ý=5 1і@=5H5 
6K;40@ 1>9K 6>�0@K í=і<4і 70<0=0C8 B5E=8:0=K ?0940;0=C 0@�K;K 53іABі:B5 53і=Hі;і:Bі§ 
6>�0@K <Ý45=85Bі= A0�B09 0;0BK= H0@C0HK;K�BK§ <¯<:і=4і3і<5= BK§09�0= 0;�0?B0@ 
<¯;45< 6>� 65<іA-6845: 0CKA?0;K 53іAB5@і=5 :íHC 0@�K;K 53іABі: 0CKA?0;K 53іAB5@4і§ 
¯;5Aі= 0709BC�0 1>;04K. �CKA?0;K 53іABі§ =53і7і íAі<4і:B5@4і§ B>?K@0��0 6Ý=5 �>@H0�0= 
>@B0�0 Ý@B¯@;і ÝA5@ 5BCі=і§ 60;?K 18>;>38O;K� ?@8=F8?і 1>;K? B01K;04K. �3іAB5 Ý@B¯@;і 
40�K;40@4K <573і;-<573і; 0CKA?0;K 53C B>?K@0�BK ?0B>35=4і <8:@>D;>@0=K§ C;K 
A5:@5F8O;0@K=0=, A>=409-0� 0@0<Hí?B5@45= B070@BC40 >§ D8B>A0=8B0@;K� @í; 0B�0@04K. 

"1;KABK§ 10@;K� 09<0�B0@K=40 �>;40=KAB0�K 0CKA?0;K 53іAB5@4і 60�A0@BC4K§ 
=53і73і 10�KBB0@K: 

- B070 6Ý=5 :C;8ABі: 45<0;�0= 65@;5@<5= >§B09;K (20-50%) �0=K�C;  
- :¯74і: 40�K;40@40= :59і= �±@�0�HK;K��0 Bí7і<4і B0@K <5= =>�0B 53і;Cі :5@5:, 

<±=40 A>§�KAK 6>�0@K 0�CK74K í=і<45@4і 68=0C4K ±;�09BC, 07>BBK� @568<4і 6Ý=5 
0CKA?0;K 53іABі:B5@45 0;4K§�K;0@4K§ �±@0<K= 60�A0@BC ¯Hі= <0§K74K; 

- 53іABі: 0CKA?0;K 53іAB5@4і§ 8=:C10F8O;K� 53іABі:B5@і=453і :í?6K;4K� Hí?B5@4і§, 
=53і7і=5= 1±@H0�-4Ý=4і Hí? �>A?0;0@K=K§ 53іA 0;�01K= ±;�09BC; 

- >@B0H0 6Ý=5 65§і; �±@K;K<4K, 45D;OF8O�0 159і< 53іABі:B5@45 M@>78O�0 �0@AK 
H0@0;0@ :5H5=і= A0�B0C �065B, >=K§ іHі=45 53іABі:B5@4і, BK§09�0= 6Ý=5 :í?6K;4K� 
Hí?B5@4і 0@=09K B>?K@0�-�>@�0C 0CKA?0;K 53іAB5@і=45 6>;0�?5= >@=0;0ABK@C; 

- �±@�0�HK;K�BK 65§і;45BC, B>?K@0�BK§ �±=0@;K;K�K= 0@BBK@C 6Ý=5 0ABK� 
0CKA?0;K 53іAB5@і=45 45D;OF8O=K 1>;4K@<0C ¯Hі= 6K; A09K= 53іABі::5 A010= �0;4K@C 
0@�K;K B>?K@0�BK, K;�0;4K;K�BK 6Ý=5 M=5@38O=K ¯=5<459Bі= B5E=>;>38O=K �>;40=�0= 
6í=. 
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О5?ыEFың 4=@4қF4Dы 5B=ыAш4 A97і;7і 4GыEC4?ы 97іE Eх9@4?4Dы: 
�әA8і C4D?ы 97іEFі> 

1.&070 6Ý=5 :C;8ABK ?0@ 1. &070 6Ý=5 :C;8ABK ?0@ 
2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 

3. �Ý=4і 1±@H0�BK 40�K;40@ 3.&0@K 6Ý=5 6074K� 18409 

4. �074K� 18409 4.�074K� 18409 
5. �@?0 6Ý=5 A±;K 5. �@?0 6Ý=5 <0�A0@K 

  

1. &070 6Ý=5 :C;8ABK ?0@ 1. &070 6Ý=5 :C;8ABK ?0@. 
2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 

3. �Ý=4і 1±@H0�BK 40�K;40@. 3. &0@K 6Ý=5 6074K� 18409 

4. �074K� 18409 4. �@?0 6Ý=5 A±;K. 

  

1. &070 6Ý=5 :C;8ABK ?0@. 1. &070 6Ý=5 :C;8ABK ?0@. 
2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 

3. &0@K 6Ý=5 6074K� 18409 3. �@?0 
  

КөC:ы?8ық шөCF9D шығыE өDіEі@9A 8әA8і C4D?ы 97іEFі> 

1. &070 6Ý=5 :C;8ABK ?0@. 1. &070 6Ý=5 :C;8ABK ?0@. 
2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 

3.&0@K 3. �074K� 18409. 

4. �074K� 18409. 4. �KH0. 
5. �í?6K;4K� Hí?B5@ (HK�KA í@іAі) 
0@?0=K§ 60@BK;09 60<K;�KAK=K§ 
0ABK=40 
 

5. �í?6K;4K� Hí?B5@ (HK�KA í@іAі) 
0@?0=K§ 60@BK;09 60<K;�KAK=K§ 
0ABK=40 
 

  

�7іEFі> 8әA8і 84қы?84D 

1. &070 6Ý=5 :C;8ABK ?0@. 1. &070 6Ý=5 :C;8ABK ?0@. 
2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 2. �¯74і: (6074K�) 18409 6Ý=5 �0@0 18409 

3. &0@K 6Ý=5 6074K� 18409 3. �Ý=4і 1±@H0�BK. 

4. �¯35@і (:¯=10�KA). 4. �074K� 18409. 

5. �074K� 18409 5. %±;K. 

6. �@?0. 6. $0?A. 
7. �¯=10�KA. 7. �074K� 18409. 

 8. �¯=10�KA. 
  

АGыEC4?ы 97іE 

1. !>�0B 1. $0?A (�KH0) 
2. �074K� 18409 2. �074K� 18409 
3. &0@K 3. %±;K 

4. �074K� 18409 4. �074K� 18409 
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ì§і@453і 0CKA?0;K 53іAB5@4і§ B01KABK 40<CK=K§ B0?BK@<0A H0@BK 53іA 
0;�0?B0@K=K§ �±@K;K<K= B±@0�B0=4K@C 1>;K? B01K;04K. �í?6K;4K� Hí?B5@, 1±@H0� 
6Ý=5 �0B0@40�K 40�K;40@ - �±=0@;K;K�BK �0;?K=0 :5;Bі@5Bі= 53іABі:B5@4і§ >§B09;K 
0;0§K= A0�B0C 5@5:H5 <0§K74K. 

�0<0=0C8 60�40940 <0; H0@C0HK;K�K=K§ �C0BBK 65<Hí? 1070AK= �±@C <ÝA5;5Aі= 
B5: 0CK; H0@C0HK;K�K í=4і@іAі= 8=B5=A8D8:0F8O;0C 0@�K;K H5HC35 1>;04K. "; ¯Hі= 
10@;K� <¯<:і=4і:B5@4і ?0940;0=C �065B: 53іABі: 0;�0?B0@K=40�K 10@;K� 65<-Hí? 
40�K;40@K=K§ í=і<4і;і3і= 0@BBK@C, 15@і;35= H0@BB0@40 5§ í=і<4і 6Ý=5 M:>=><8:0;K� 
B8і<4і 40�K;40@4K íAі@C, B018�8 609K;K<40@ <5= H01K=4K�B0@4K§, A0�0;K� 
H01K=4K�B0@4K§ 6Ý=5 609K;<0;0@4K§ í=і<4і;і3і= 0@BBK@C, 07K� 409K=40C BÝ@Bі1і <5= 
A0?0AK= 60�A0@BC ¯Hі= >;0@4K A0�B0C B5E=>;>38OAK= >40= Ý@і 65Bі;4і@C. 

�9<0�BK§ B018�0B 60�409;0@K íB5 0;C0= B¯@;і, A>=4K�B0= Ý@ 09<0�B0, Bі?Bі Ý@ 
H0@C0HK;K�B0 <0;4K 07K�?5= �0<B0<0AK7 5BC 6>;40@K Ý@B¯@;і 1>;04K. 

%C0@K;<09BK= 65@;5@453і 40;0 6Ý=5 �±@�0� 40;0 09<0�B0@K ¯Hі= <0; 07K�BK� 
Hí?-609K;K< 0CKA?0;K 53іAB5@і ±AK=K;04K: 

 

%х9@4 1 

1. �@?0 6Ý=5 �±<09 

2. %C40= Hí1і 
3. %¯@;5<45@                                                                
4. �í?6K;4K� Hí?B5@<5= 1і@35 53і;35= 
0@?0 

5-8. �í?6K;4K� Hí?B5@ 

%х9@4 2 

1. �і@6K;4K� Hí?B5@ 
2. %¯@;5<45@ 

     3. �í?6K;4K� Hí?B5@<5= 1і@35 53і;35=   
0@?0 

4-5.#іH5=35 :í?6K;4K� Hí?B5@ 
6-8. 0; 60N�0 :í?6K;4K� Hí?B5@. 

 

%х9@4 3 

1. �>A 5<5A ?0@ (1±@H0�) 
2. �Ý=4і 40�K;40@ 
3. �¯35@і (A¯@;5<35) 
4. �¯=10�KA 

 

%х9@4 4 

1. �±@H0�+A±;K 

2. %¯@;5<45@ 
3. &0<K@ B¯9=5:Bі 
4. �í?6K;4K� Hí?B5@<5= 1і@35 
53і;35= 0@?0 

     5-7. �í?6K;4K� Hí?B5@ 
 

�09K;K<4K� 0CKA?0;K 53іAB5@ 
 

�í?6K;4K� Hí?B5@ 
�>A?0AK (5@:5:Hí? + 

6>§KH�0 + MA?0@F5B) 1 6K; 
60@BK;09 601K=4K 40�K; 
0@?0 
2 6K; í<і@ A¯@5Bі= 
:í?6K;4K� Hí?B5@4і§ 
�>A?0AK 

�í?6K;4K� Hí? �>A?0AK 3 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 4 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 5 
6K;4K� 
�¯35@і 
�8409 

�í?6K;4K� Hí?B5@ 
�>A?0AK (5@:5:Hí? + 

6>§KH�0 + MA?0@F5B) 1 6K; 
60@BK;09 601K=4K 40�K; 
<0�A0@K 

2 6K; í<і@ A¯@5Bі= 
:í?6K;4K� Hí?B5@4і§ 
�>A?0AK 

�í?6K;4K� Hí? �>A?0AK 3 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 4 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 5 
6K;4K� 
�±<09 

!>�0B 

�í?6K;4K� Hí?B5@ 
�>A?0AK (5@:5:Hí? + 

6>§KH�0 + MA?0@F5B) 1 6K; 
60@BK;09 601K=AK7 53іABі: 
 

2 6K; í<і@ A¯@5Bі= 
:í?6K;4K� Hí?B5@4і§ 
�>A?0AK 

�í?6K;4K� Hí? �>A?0AK 3 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 4 
6K;4K� 
�í?6K;4K� Hí? �>A?0AK 5 
6K;4K� 
&0@K 

%±;K 
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 0; H0@C0HK;K�K=K§ íAі?-í@:5=45Cі=і§ =53і73і H0@BK – <0; 07K�BK� 
40�K;40@4K§ í=і<4і;і3і= 0@BBK@C, 53іA 0;�0?B0@K=K§ �±@K;K<K= 60�A0@BC, B018�8 65<-

Hí? 0;�0?B0@K=K§ í=і<4і;і3і= 0@BBK@C 0@�K;K 65<-Hí? 1070AK= =K�09BC. %¯@;5<4і: 
40�K;40@4K, 1і@6K;4K� 6Ý=5 :í?6K;4K� Hí?B5@4і íAі@C35, 4Ý=4і 1±@H0� 40�K;40@K= 
:5§59BC35 5@5:H5 =070@ 0C40@C :5@5:. 

 

����Ы� ���Ы���$ ��І%І!І¦ �ì�&� �І ��$"&�)!���%Ы 

 

�Ü!�І �Ü!� �Ü!�І�°$Ш��&Ы 

 

�4;8ы� 5<84= 

АG84A84EFыDы?ғ4A EBDFF4D. �±<A0� 18409 – %0@0B>2A:0O 42, �;L184C< 31, 
�;L184C< 32, �>;3>C@0;LA:0O, �070EAB0=A:0O 17, %0@0B>2A:0O 60, ,>@B0=48=A:0O 2007; 
�0BBK 18409 – �0@�0;0 69, /=B0@=0O 60, /=B0@=0O 150. 

А?ғы 84қы?84D. �074K� 184094K§ 18>;>38OAK=K§ 5@5:H5;і3і >=K§ B0<K@ 
Hі@і3і=5 6Ý=5 10A�0 40 A?5F8D8:0;K� 0C@C;0@�0 �0BBK 159і<4і;і3і 1>;K? B01K;04K. 
"AK�0= A¯95=5 >BK@K?, 6074K� 18409 ¯Hі= 0;�K 40�K;40@ B0§40C 5@5:H5 <0§K7�0 85. 

&070 ?0@4K 6074K� 18409 ¯Hі= 5§ 60�AK 0;�K 40�K; 45? A0=0C�0 1>;04K, 1і@0� 
4ÝAB¯@;і B5E=>;>38O=K§ 5@5:H5;і:B5@і= 5A:5@5 >BK@K?, >=K :¯74і: 40�K;40@�0 ?0940;0=C 
B8і<4і@5:. �074K� 184094K 0CKA?0;K 53іAB5 :¯74і:, �0B0@;K 40�K;40@, 1±@H0� B±�K<40A 
40�K;40@, 1і@6K;4K� 1±@H0�-60@K� �>A?0;0@K 6Ý=5 5@B5 íA5Bі= :í?6K;4K� Hí?B5@45= 
:59і= A51C ±AK=K;04K. �¯74і: 0;�K 40�K;40@40= :59і= 0CK;H0@C0HK;K� 40�K;40@K=K§ 
70�K<40=CK 070O4K, >=K 85% 6K;40 109�0C�0 1>;04K, 0; <±=40 6074K� 18409 
í=і<4і;і3і=і§ B±@0�BK;K� :í@A5B:іHі >=K �09B0;0? í§45C35 �0@0�0=40 1і@H0<0 6>�0@K.   

!>�0B 1±@H0� B±�K<40A 40�K; @5Bі=45 B>?K@0�BK 07>B <í;H5@і 6>�0@K 60§0 
>@30=8:0;K� 70BB0@<5= 109KBC�0 �01і;5BBі. 

 �074K� 184094K A51C 0@�K;K >; B>?K@0�B0�K =8B@0BB0@4K§ �±@0<K= 5:і 5A5 
45@;і: 0@BBK@04K, 1±; <8=5@0;4K BK§09B�KHB0@4K§ �K<10BBK�K= 5A:5@5 >BK@K?, íB5 
<0§K74K. 

&BCыD4қ өң89G. �074K� 18409 ¯Hі= B>?K@0� í§45C4і§ =53і73і 6¯95Aі :5;5Aі =53і73і 
<і=45BB5@4і H5HCі :5@5:: 

1. &>?K@0�BK§ B0<K@ �010BK=40 K;�0;4K§ 68=0;CK= 6Ý=5 A0�B0;CK= �0<B0<0AK7 
5BC, �>@5:B5=C @568<і= 60�A0@BC4K§ <8:@>18>;>38O;K� ?@>F5AB5@і= :¯H59BC. 

2.&±�K<4K >BK@�K7C�0 6Ý=5 íAі<4і:Bі§ B0<K@ 6¯95Aі=і§ :59і=3і 40<CK=0 �>;09;K 
60�409 60A0C. 

3.�0�K;40@4K 0@0<Hí?B5@45=, :591і@ 0C@C;0@40=, M@>78O ?@>F5AB5@і=і§ 
:í@і=іAB5@і=5= �>@�0C. 

4.  8=5@0;4K 6Ý=5 >@30=8:0;K� BK§09B�KHB0@4K, A>=409-0� íAі<4і: �0;4K�B0@K= 
1і@:5;:і 5=3і7C4і �0<B0<0AK7 5BC. 

&>?K@0� í§45C4і§ =53і73і 6¯95Aі= 0;4K§�K B¯@і=5, 0@0<Hí?Bі;і3і=5, B>?K@0�BK§ 
03@>D878:0;K� �0A85BB5@і=5 6Ý=5 >=K 6¯7535 0AK@C :57і=453і 0C0 @09K=K§ �>;09;K 
60�409;0@K=0 109;0=KABK A0@0;0C�0 1>;04K, 1і@0� 25-27 A<-45 6K@BC�0 =5<5A5 B53іA 
:5Aі? �>?AKBC�0 =53і745;35=. �591і@ 60�409;0@40 53і= 68=0C40= :59і=3і íB5 �±@�0� 
6K;40@40 =53і73і í§45C B5@5§4і3і= 12-14 A<-35 459і= 0709BC�0 @±�A0B 5Bі;54і, 1±; ¯;:5= 
1;>:B0@4K§ ?0940 1>;CK= 1>;4K@<094K. 

�074K� 184094K 607�K-:¯73і 6Ý=5 :í:B5<3і-607�K :575§45@45 �0@�K=4K 
<5E0=8:0;K� í§45C35 60B0BK= �0B0@;K 40�K;40@40= :59і= >@=0;0ABK@C :57і=45. %і7 ���-

10, ���-15 48A:і;і �>?AKB�KHB0@<5= =5<5A5 ��&-3, ��&-7 0CK@ 48A:і;і BK@<0;0@<5= 
53і==5= :59і=3і íAі<4і: �0;4K�B0@K=, ÝAі@5A5 6¯35@і <5= :¯=10�KABK 12-14 A< B5@5§4і:B5 
í§45C<5= H5:B5;5 0;0AK7. 
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�í?6K;4K� Hí?B5@45= :59і=3і B>?K@0�BK 409K=40C :;0AA8:0;K� AE5<0 1>9K=H0 
6¯@3і7і;54і. ,í? H01K;�0==0= :59і= 1і@45= ���-10, ���-15-?5= 8-10 A< B5@5§4і:B5 
?8;;8=3 6¯@3і7і;54і, 0; 2-3 0?B040= :59і= 1±; Ý4іA HK<B575:B5@4і B>;K� :5AC ¯Hі= 
B5@5§4і:Bі 0740? 6>�0@K;0BC 0@�K;K 10A�0 10�KBB0 �09B0;0=04K. 25-27 A< B5@5§4і:B5 
6K@BC4K 0@HK;�0==0= :59і= 15-20 :¯==5= :59і= <і=45BBі A:8<<5@;5@<5= 6014K�B0;�0= 
#!-4-35, #�!-6-35, #&�-9-35 A>�0;0@<5= 6¯@3і754і. �35@ Hí?B5@ 607�K-:¯73і :575§45 
�09B0 íAA5, >;0@ :57 :5;35= �>?AKB�KHB0@<5= 6>9K;04K. 

�í:B5<453і K;�0;4K ¯9і=4і;5@45 601C 6Ý=5 íAі<4і: �0;4K�B0@K=K§ 07 <í;H5@і<5= 
B53іA :5Aі;35= í§45C45= :59і= 5:і 6>;40�K ���&'-1,0 =5<5A5 ���%%-1,0 BіA BK@<0;0@K 
0@�K;K 6¯7535 0AK@K;04K. %010=4K D>=40@40 6Ý=5 53іA 0;�01K= A010=<5= í§4535=45 
���-3, � ,-15 A8O�BK BK@<0;0@ =5<5A5 ����-10 8=5;і 48A:і;5@і 10@ BK@<0;0@ 
�>;40=K;CK :5@5:.  

�@0<Hí?B5@<5= :¯@5AC45 A51C 0;4K=40�K í§45C 0@�K;K 09B0@;K�B09 =ÝB86535 
�>; 65B:і7і;54і. �±; ÝAі@5A5 60109K 0;�0?B0@�0 �0BKABK.  ±=409 B0=0?B0@40 >AK 
0@0<Hí?Bі§ í=і? HK�CK=0 �0@09 7-9 :¯= 0@0;K�K<5= A51C 0;4K=40 2 =5<5A5 3 @5B 53іA 
0;4K=40�K :C;LB820F8O 6¯@3і7і;54і. Ü@1і@ í§45C45= :59і= B>?K@0�BK§ 6>�0@�K 
�010BB0@K=0= K;�0;4K§ 6>�0;CK= 1>;4K@<0A ¯Hі= 0;�0?BK A0�8=0;K HK�K@HK�B0@<5= 
B0?B0C :5@5:. 

&ың4=Fқыш. &K§09B�KHB0@4K �>;40=C íAі<4і:B5@4і§ íACі <5= 40<CK ¯Hі= 
60�409;0@4K 09B0@;K�B09 60�A0@B04K 6Ý=5 �>@H0�0= >@B0=K§ �>;09AK7 D0:B>@;0@K=K§ 
ÝA5@і=5 53і==і§ Bí7і<4і;і3і= 0@BBK@04K. �8409 íAі<4і:B5@і=45 07>BBK§ 68=0;CK 
B>?K@0�BK§ B0<K@ �010BK=40�K >AK M;5<5=BBі§ �>;40 10@ D>@<0;0@K=K§ 
:>=F5=B@0F8OAK=0 Bі:5;59 109;0=KABK. �8409 íAі<4і:B5@і ¯Hі= 07>BBK§ <0§K74K;K�K 
07>BBK§ 15;3і;і 1і@ A0?0 :í@A5B:іHB5@і= �0<B0<0AK7 5B5Bі= 0ABK� 0�CK7K=K§ 1і@ 1í;і3і 
1>;CK<5= 45 0=K�B0;04K. &>?K@0� D>AD>@K íAі<4і:B5@4і§ B0<K@ 6¯95Aі=і§ 60�A0@�0= 
íACі=5 K�?0; 5B54і. �±; M;5<5=BBі§ ÝA5@і ÝAі@5A5 íAі<4і: 40<CK=K§ 0;�0H�K :575§45@і=45 
:¯HBі 1>;04K. ìAі<4і:B5@4і§ 5@B5 60AB0 D>AD>@ 0HK�CK >=K :59і=і@5: 15@C<5= 
íB5;<594і. 

�074K� 184094K§ 2535B0F8O;K� :575§і=45 07>B?5= 6Ý=5 D>AD>@<5= �>@5:B5=Cі 
BK�K7 109;0=KABK. �7>B�0 �0BKABK D>AD>@4K§ 65BіA?5Cі =5<5A5 0@BK� 1>;CK 
íAі<4і:B5@45 0�CK7 0;<0ACK=K§ 5;5C;і 1±7K;CK=0 Ý:5;54і. 

(>AD>@ BK§09B�KHB0@K=K§ =53і73і 4>70AK BK§09�0= B0=0?�0 �5;0@CAL-82, $'-

1000, !�'-5 5=3і7і;5Bі=4і:B5=, A>40= :59і= A51C :57і=45 :í? 60�40940 N10-20P10-20 �>;40=C 
65B:і;і:Bі. �3іA 0;4K=40�K BK§09B�KHBK 5=3і7C 4>70;0@K B>?K@0�B0�K �>@5:Bі: 
70BB0@4K§ �±@0<K=0 109;0=KABK @5BB5;Cі :5@5:, 1±; 0;4K§�K A>@B�0 109;0=KABK. 

�7іE. &±�K<40@4K A51C35 409K=40C >;0@4K AB0=40@B B0;0?B0@K=0 AÝ9:5A :5;Bі@C4і 
6Ý=5 1і@�0B0@ 0C@C;0@�0 �0@AK <і=45BBі 5<45C4і �0<B84K. 
�074K� 18409 B>?K@0�BK§ D878:0;K� ?іAі?-65Bі;Cі=5 65B:5=45 5@B5 A51і;54і. �3іABі§ 
:5Hі3Cі íAі<4і: �0;4K�B0@K=0= �>@�0;<0�0= B>?K@0�BK§ ¯ABі§3і �010BK=0= 1C;0=C :57і=45 
K;�0;4K§ 6>�0;CK=0= B0=0?BK§ í=3іHBі3і=і§ Bí<5=45Cі=5 109;0=KABK >=K§ í=і<4і;і3і=і§ 
Bí<5=45Cі=5 Ý:5;54і.  �074K� 184094K 53C4і :5Hі:Bі@C B5: 60A 0@0<Hí?B5@<5= 
70�K<40=CK 6>�0@K 1>;�0= 60�40940 �0=0 <¯<:і= 1>;04K. �±; 60�40940 1-2 53іA 
0;4K=40�K :C;LB820F8O <5= 53C �-701, �-700�, %�&%-2, %�%-2.1, �6>= �8@ 9320, #� 
�6>= �8@ 1820 A010= A5?:іHB5@і 0@�K;K 6¯7535 0AK@K;04K. �074K� 184094K§ >§B09;K 
A51C =>@<0AK= B0§40�0= :5745 B>?K@0�BK§ 6Ý=5 B018�8 7>=0;0@4K§ 5@5:H5 M:>=><8:0;K� 
60�409;0@K= 5A:5@C �065B. "1;KABK§ A>;B¯ABі: �±@�0� 40;0 7>=0AK ¯Hі= 48A:і;і: 
A5?:іHB5@<5= ¯9і=4і35 53іA :57і=45 B±�K< A51C =>@<0AK 35:B0@K=0 2,7-2,8 <;=. &53іA 
6K@BK;0BK= 65@;5@45, 53іA 53іABі: A5?:іHB5@<5= 6¯@3і7і;5Bі= 1>;A0, =>@<0 AÝ; Bí<5= – 
í=5Bі= B±�K<=K§ Ý@ 35:B0@K=0 2,5-2,7 <;=. "§B¯ABi: >1;KAB0@ ¯Hi= 53iABi: =>@<0AK 65@ 
6K@BC ¯Hi= 2,2-2,5 6Ý=5 607K� í§45C35 2,0-2,3 <;=. 
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�5AB5 4- �84094K§ ±AK=K;0BK= A51C <í;H5@і 

&018�8-:;8<0BBK� 
09<0� 

&±�K<=K§ A51C <í;H5@і 
<;=. 40=0./30 :3/30 

<8=8<0;L4K <0:A8<0;L4K <8=8<0;L4K <0:A8<0;L4K 

�0;0 2,8 3,3 90 120 

�±@�0� 40;0, 2,7 3,0 75 110 

�0@BK;09 Hí;4і 2,5 2,7 65 110 

 

"§B09;K >BK@�K7C B5@5§4і3і= 5-6 A< 45? A0=0C�0 1>;04K, 0; �065B 1>;�0= 60�40940 
>=K 7-8 A<-35 459і= 0@BBK@C�0 1>;04K, A51C :57і=45 @0<0=K§ B53іA 1>;CK= �0<B0<0AK7 5BC 
¯Hі= A5?:іHBі @5BB5C íB5 <0§K74K. Ü@B¯@;і B5@5§4і:B5 B>?K@0��0 A0;K=�0= B±�K<40@40= 
íAі@і;35= íAі<4і:B5@ 0@0<Hí?B5@35, 78O=:5AB5@35 6Ý=5 0C@C;0@�0 Ý@B¯@;і BÝAі;45@<5= 
�0@AK B±@04K. &K< B5@5§ 6Ý=5 BK< B0O7 B±�K<40@4K >BK@�K7C �065B 5<5A. 

�0�K;40@�0 :¯Bі< 60A0C. �3іAB5= :59і= 60CK=-H0HK= 1>;�0= :5745, B>?K@0� 
�K@BKAK= 6>N 6Ý=5 60A 0@0<Hí?B5@4і§ :íH5BB5@і= 6>N �065B 1>;CK <¯<:і=. �±; 
<0�A0BB0@�0  &�-80/82, ��%%-1,0 =5<5A5 65§і; 0@0<Hí?B5@ �%"-4 1і@і:Bі@і;35= >@B0H0 
BіA BK@<0;0@ �>;09;K.  &K@<0;0C 3-4 A<-45= 0A?09BK= B5@5§4і:B5 =5<5A5 A51C 10�KBK=0 
�0@09 1±@KHB0 6¯@3і7і;54і. �íH5BB5@4і 6>N ¯Hі= 40�K;40@4K BK@<0;0C :íH5B ?0940 
1>;�0==0= :59і= 45 6¯@3і7і;54і. 

�074K� 18409 40�K;40@K=K§ D8B>A0=8B0@;K� 60�409K= =53і735 0;0 >BK@K?, 
�5;0@CAL-1221, "#,-2000 0@0<Hí?B5@45=, 0C@C;0@40= 6Ý=5 78O=:5AB5@45= �>@�0C 
H0@0;0@K= �>;40=C �065B. 
 

!B�4F 
 

�C40=40ABK@K;�0= A>@BB0@K – .18;59=K9, �>;3>3@04A:89 10, $>25=A:89. 

А?ғы 84қы?84D. !>�0BBK§ 5§ 60�AK 0;�K 40�K;K :¯74і: 40�K;40@40= :59і= :¯74і: 
6Ý=5 6074K� 4Ý=4і 40�K;40@40 íAі@і;5Bі= :¯74і: 40�K;40@ 1>;K? B01K;04K. �CKA?0;K 
53іABі:B5@45 >; B>?K@0�BK 60�A0@B0BK= 6Ý=5 6074K� 0ABK� 4Ý=45@і ¯Hі= A5?0@0B>@ 
@5Bі=45 ?0940;0=K;CK <¯<:і=. 

!>�0BBK§ í7і 60�AK 0;�K 40�K;. �535=<5=, B0<K@4K§ Hі@і? :5BC <¯<:і=4і3і= 
1>;4K@<0C ¯Hі= =>�0BBK§ (=5<5A5 10A�0 1±@H0� 40�K;40@K=K§) ¯ABі=5 =>�0B A51C35 
1>;<094K. 

&BCыD4қFы өң89G.  !>�0B�0 0@=0;�0= B>?K@0�BK§ =53і73і í§45Cі 25-27 A< 
B5@5§4і:B5 6¯@3і7і;54і, íAі@C4і§ �0;K?BK Ý4іAі<5= B>?K@0�B0�K K;�0;4K;K� 
6>�0@K;094K, í9B:5=і :¯74і: 40�K;40@4K 6>�0@K :5AC45 68=0C �0@ 60<K;�KAK=K§ 
±;�0NK= �0<B0<0AK7 5B54і. &0<K@BÝ@і74і 0@0<Hí?B5@<5= 70�K<40=CK 6>�0@K 1>;�0= 
:5745 6K@B�0= 6í=. �±; 60�40940 B0<K@;0@4K :іH:5=5 :5A5:B5@35 :5AC ¯Hі= 48A:і 
�±@0;40@K<5= 15Bі= í§45C45= 1±@K= 1>;CK :5@5:. 

&>?K@0�BK :í:B5<3і BK@<0;0C =53і73і í§45C Ý4іAі=5, B>?K@0� 15Bі=45 BіABі (���&'-

1,0, ���%%-1,0) =5<5A5 8=5;і BK@<0;0@<5= (���-3, � ,-15) A010= <5= A010==K§ 
1>;CK=0 109;0=KABK 6¯@3і7і;54і. &K@<0;0C40= :59і= �#%-4, �#--3,8, "#-8 A>@BB0@K= 6-
8 A< B5@5§4і:B5 í§45C :5@5:. 

&ың4=Fқыш. !>�0B BK§09B�KHB0@�0, ÝAі@5A5 D>AD>@�0 60�AK 60C0? 15@54і. 
�5;0@CAL-82, $'-1000, !�'-5 BK§09�0= :í§ 0;�01K=0 6Ý=5 1¯:і; 0CKA?0;K 53іA ¯Hі= 
D>AD>@ BK§09B�KHB0@K= 5=3і735=45, 53іA :57і=45 =>�0BBK§ 0ABK=0 $10-15 5=3і7C 65B:і;і:Bі. 
(>AD>@ BK§09B�KHK @5Bі=45 A8<18>B8:0;K� 07>BBK 15:іBC4і :¯H59B5Bі= <>;8145=45;35= 
AC?5@D>AD0BBK �>;40=�0= 4±@KA. 

�7іE. !>�0B B±�K<K= A51C35 409K=40C�0 109KBC, �±@0<K=40 <>;8145=, 1>@ 10@ 
<8:@>BK§09B�KHB0@<5= í§45C 6Ý=5 =8B@038=870F8O :і@54і. &±�K<=K§ K;�0;4K;K�K 
6>�0@K 1>;�0= :5745 >;0@4K 0C0-B5@<8O;K� �K74K@C 0@�K;K �K74K@04K. 
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!>�0B 0A1±@H0��0 �0@0�0=40, ÝAі@5A5 3¯;45=C 6Ý=5 ?іAC D070;0@K=40 6K;C4K 
B0;0? 5B54і, 1і@0� 0O7�0 40 Bí7і<4і. &±�K<=K§ B57 í=і? HK�CK 6Ý=5 :íH5BB5@ AÝBBі HK�CK 
¯Hі= 5§ 60�AK B>?K@0� B5<?5@0BC@0AK 6-8°%. %>=4K�B0= =>�0B 0@?0, A±;K 6Ý=5 6074K� 
18409 53і;35= A>§ 5@B5 A51і;54і. &±�K<=K§ í=і? HK�CK ¯Hі= K;�0;4K§ :í? 1>;CK �065B 
1>;�0=4K�B0=, 53іA:5 :5Hі:Bі@C �0Cі?Bі. 

&±�K< A51C 6K;40<4K�K B±�K<=K§ :í;5<і=5 6Ý=5 A51C 0;4K=40 B>?K@0�BK§ 
K;�0;40=C 4Ý@565Aі=5 109;0=KABK A0@0;0=04K. �K;40@ 1>9K 35:B0@K=0 0,7-45= 0,8 
<8;;8>=�0 459і= í=5Bі= B±�K< =5<5A5 200-235 :3/30.  
!>�0B 53C %�&%-2, %�%-2,1 �>=4K@�K;0@K=40 A010= A5?:іHB5@ 0@�K;K 6¯@3і7і;54і. SK-

701, K-700A, John Deere 9320, PK John Deere 1820 6-8 A< B5@5§4і:B5. �3іAB5= :59і= ���,-

6 A0�8=0;K HK�K@HK�B0@<5= B53іAB5C 8;5<45C <і=45BBі 1>;K? B01K;04K. !>�0B 8-10 A< 
B5@5§4і::5 459і= 53C35 HK409 0;04K, 1±; �±@�0� 6K;40@40 40�K;4K íAі@C :57і=45 
5A:5@і;Cі :5@5:. 
 

�5AB5 5- !>�0BBK§ ±AK=K;0BK= A51C <í;H5@і 
�0�K; &±�K<4K 53C <í;H5@і 

<;=. 40=0./30 :3/30 
<8=8<0;L4K <0:A8<0;L4K <8=8<0;L4K <0:A8<0;L4K 

=>�0B 
0,8 1,0 180 250 

 

�8A:і;і A5?:іHB5@4і ?0940;0=�0= :5745 B±�K<�0 70�K< :5;Bі@<5C ¯Hі= >;0@ ¯ABі§3і 
53іA:5 >@=0BK;04K. �535=<5=, 48A:і;і A5?:іHB5@ K;�0;4K B>?K@0� �010BK=0 B±�K< 
>@=0;0ABK@C4K Ý@409K< �0<B0<0AK7 5B5 15@<594і. 

�7іEFі>>9 >үFі@. �0AB0?�K40 =>�0B 10OC íA54і, A>=4K�B0= 0@0<Hí?B5@<5= <±�8OB 
:¯@5AC �065B, 1±; :í1і=5A5 53і= í=і<4і;і3і=і§ Bí<5=45Cі=і§ =53і73і A5151і 1>;K? B01K;04K. 

!>�0BB0@4K :¯Bі?-10?B0C H0@0;0@K 6¯95Aі=45 HK��0=�0 459і=3і 6Ý=5 :59і=3і 
BK@<0;0C4K§ <0§K7K 7>@. �±; 03@>B5E=8:0 60A 0@0<Hí?B5@4і§ 60??09 :íH5BB5@і= 
1±704K 6Ý=5 60CK=-H0HK==0= :59і= ?0940 1>;�0= 60�40940 B>?K@0� �K@BKAK= 1±704K. 
&>?K@0� ?0940 1>;�0=�0 459і= 0@0<Hí?B5@4і§ «0� 6і?B5@» D070AK=40 �>?AKBK;04K, 1±; 
:5745 =>�0BBK§ B0<K@K ?0940 1>;4K, 1і@0� A010�B0@K Ý;і ?0940 1>;<094K. ì@:5=45@35 
 &�-80/82, ��%%-1,0 BK@<0;0C4K íAі<4і:Bі§ 18і:Bі3і 4-5 A<, :¯=4і73і C0�KBB0 
0@0<Hí?B5@4і§ 60??09 í=і? HK�CK<5= 6¯@3і754і. ìAі<4і:B5@35 70�K< :5;Bі@<5C ¯Hі= 
:íH5BB5@4і �0B0@;0@ 1>9K<5= Bí<5= 6K;40<4K�?5= :5§ ±AB0�KH >@B0H0 BK@<0 
�>=4K@�K;0@K<5= BK@<0;0C :5@5:. 

!>�0B 10A�0 40�K;40@�0 �0@0�0=40 78O=:5AB5@ <5= 0C@C;0@40= 07 70@40? 
H5::5=і<5=, �065B 1>;�0= 60�40940 íAі<4і:B5@4і E8<8O;K� �>@�0C 6±<KAB0@K 
6¯@3і7і;54і. 

 

�%&Ы� ��Ы� ���Ы���$Ы 

�DC4. %±?ы. 

 

АG84A84EFыDы?ғ4A EBDFF4D. �@?0 – �@0=0;, �>=5F:89 8, �;5: 9, *5;8==K9 
3>;>75@=K9; A±;K -  8@=K9. 

А?ғы 84қы?ы �@?0=K§ 5§ 60�AK 0;�K 40�K;40@K: :¯74і: 40�K;40@, �0B0@;K 
40�K;40@ 6Ý=5 1±@H0� B±�K<40A 40�K;40@. �§ 0;4K<5=, 6074K� 18409 >AK 0;�K 
40�K;40@�0 >@=0;0ABK@K;04K, A>=4K�B0= 0@?0 Ý45BB5 18409 53і;35==5= :59і= 1і@-5:і 
6K;40= :59і= A51і;54і. 

%±;K ¯Hі= 5§ 60�AK 0;�K 40�K;, A>=409-0� :¯74і: 40�K;40@, �0B0@;K 40�K;40@ 
6Ý=5 1±@H0� 40�K;40@K, 1і@0� 0@?0 A8O�BK, 0CKA?0;K 53іAB53і A>§�K 40�K; 1>;K? 
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B01K;04K. �і@ 0;�0?B0 6Ý=5 0@?040= :59і= 5:і 6K; �0B0@K=0= A±;K íAі@5 0;<09AK7. �±; 
B¯Aі<=і§ Bí<5=45Cі=5 Ý:5;54і. 

&BCыD4қFы өң89G. �3іABі: =5�±@;K< 5@B5 í§45;A5, B>?K@0�BK§ í§45;C A0?0AK 
A>�±@;K< 6>�0@K 1>;04K, A>�±@;K< >=K§ іHі=45 K;�0; :í? A0�B0;04K 6Ý=5 68=0�B0;04K, 
>=K§ 1іB5;Cі 070O4K, 78O=:5AB5@ <5= 0C@C �>74K@�KHB0@40= 60�AK B070;0=04K 45? 
5A5?B5;54і. �Ý=4і-07K�BK� 40�K;40@ ¯Hі= B>?K@0�BK =53і73і í§45C4і B53іA :5A5Bі= 65@ 
0ABK �010BB0@K<5= 6¯@3і7C :5@5:. ì§45C B5@5§4і3і 607�K-:¯73і :575§453і 0C0 @09K 
60�409K=0 109;0=KABK 1>;04K 6Ý=5 12-14-B5= 20-22 A<-35 459і= í735@Cі <¯<:і=. 

!ÝB865Aі=45 :í:B5<45 53іABі:B5@45 K;�0;4K§ 60�AK 68=0;CK 109�0;04K, 1±; 
�±@�0�HK;K�BK§ ÝA5@і= 09B0@;K�B09 0709BC�0, A>; 0@�K;K 0CK; H0@C0HK;K�K 
40�K;40@K=K§ í=і<4і;і3і= 0@BBK@C�0 <¯<:і=4і: 15@54і. 

�0B0@;K 40�K;40@40= :59і= 40�K;40@4K >@=0;0ABK@�0= :5745 B>?K@0�BK 8-10 A< 
B5@5§4і:B5 ���-10, ���-15 48A:і;і �>?AKB�KH?5= =5<5A5 12-14 A< B5@5§4і:B5 ���-3, 

���-7 0CK@ 48A:і BK@<0;0@K<5= í§45C 65B:і;і:Bі, 0;0940, 53іABі:Bі§ D878:0;K� 
5@5:H5;і:B5@і= 5A:5@35= 6í=. B>?K@0� :59і=і@5: ?0940 1>;04K. %>=K<5= �0B0@, 5@B5 
53і;35= íAі<4і:B5@ 10AB0?�K íAC :575§і=45 B>?K@0�BK§ 10OC 6K;K=C ?@>F5Aі=5 
109;0=KABK 07>BBK �>@5:Bі: 70BB0@4K§ 65BіA?5CHі;і3і= A57і=54і. 

&>?K@0�BK :í:B5<3і BK@<0;0C íAі<4і: �0;4K�B0@K=K§ <í;H5@і=5 109;0=KABK 
���-3, � ,-15 8=5;і BK@<0;0@4K =5<5A5 ���&'-1,0, ���%%-1,0 BіA BK@<0;0@K= 5:і 
6>;4K ?0940;0=C 0@�K;K 6¯@3і7і;54і. �3іA 0;4K=40�K í§45C �065B 1>;�0= 60�40940 �#--

3,8, �#�-9,7, �#%-4 A8O�BK �±@0;-A09<0=40@4K ?0940;0=0 >BK@K? 6¯@3і7і;54і. �,'-12, 

"#-8 6-8 A< B5@5§4і::5 459і=. 
&ың4=Fқыш. �0A�0 4Ý=4і 40�K;40@<5= A0;KABK@�0=40 0@?0=K§ B>?K@0�B0= 

�>@5:Bі: 70BB0@4K Aі§і@C <5@7і<і 07. &¯Bі::5 HK��0= :5745 >; �>@5:Bі: 70BB0@4K§ 
60@BKAK= B±BK=�0=. �535B0F8O;K� :575§=і§ 10AK=40 B0<0�B0=C4K§ 65BіA?5CHі;і3і= 
:5;5Aі D070;0@40 íB5C <¯<:і= 5<5A. 

!53і73і D>AD>@ BK§09B�KHK= 1¯:і; 0CKA?0;K 53іA ¯Hі= BK§09�0= B0=0?�0 1і@ @5B, 
A>40= :59і= 0@?0 ¯Hі= A51C :57і=45 5=3і7C :5@5: 1>;�0=4K�B0=, N15-20P15-20-<5= H5:B5;C35 
1>;04K. �0B0@;K ±@K�B0=4K@C 60A íAі<4і:B5@4і§ 6K;40< íACі <5= 40<CK= �0<B0<0AK7 
5B54і. �>=4K@�K=K§ �±@0<K  &�-82 + $'-1000 (!�'-5). 

%±;K B>?K@0� 60�409K=0 07 B0;0? 5B54і, 1±; 60�AK 40<K�0= B0<K@ 6¯95Aі<5= 
6Ý=5 >=K§ 6>�0@K Aі§і@C �01і;5Bі<5= B¯Aі=4і@і;54і. %±;K=K§ BÝ= 5@5:H5;і3і - íAі<4і::5 
B¯A5Bі= �>@5:Bі: 70BB0@4K§ ±70� :575§і. %±;K 07>BBK BK§09B�KH�0 5@5:H5 60C0? 15@54і, 
1і@0� �±@�0�HK;K� 60�409K=40 íAі<4і: <0AA0AK=K§ ±;�0NK :í1і=5A5 >=40�K 0ABK� 
¯;5Aі=і§ Bí<5=45Cі=5 Ý:5;5Bі=і= 5AB5 ±AB0�0= 6í=. %>=4K�B0= A±;K ¯Hі= 
BK§09B�KHB0@4K§ 1і@459 4>70;0@K 0@?0 A8O�BK �>;40=K;CK :5@5:. 

�7іEFі>. �@?0 <5= A±;K ¯Hі= B±�K<4K� <0B5@80;4K 409K=40C�0 �>9K;0BK= 
B0;0?B0@ 10A�0 4Ý=4і 40�K;40@�0 �>9K;0BK= B0;0?B0@<5= 1і@459. 

�@?0 <5= A±;K B±�K<40@K í=C ¯Hі= Bí<5= >§ B5<?5@0BC@0=K �065B 5B54і, 0; 
:íH5BB5@ 0O7�0 Bí7і<4і, A>=4K�B0= 40�K;40@�0 5@B5 A51C <5@7і<і �01K;40=04K. �і@і=Hі 
6Ý=5 5:і=Hі B018�8-M:>=><8:0;K� 09<0�B0@4K§ H0@C0HK;K�B0@K=40 0@?0 A51C =>@<0AK 
1 35:B0@�0 2,5-2,7, ¯Hі=HіAі=45 2,3-2,5 <;=. �і@і=Hі 09<0�B0 68і :5745A5Bі= A±;K 
40�K;40@K=K§ 53іABі: =>@<0AK 1 35:B0@�0 2,8-3,0 <;=.  

&±�K<40@4K >BK@�K7C B>?K@0�BK§ K;�0;4K �010BK=40, 1і@0� 5-6 A< B5@5§4і:B5 
6¯@3і7і;Cі :5@5:. 
&±�K< A5?:іHB5@4і B0§40C =53і7і=5= í§45C C0�KBK<5= 6Ý=5 53іABі: 15Bі=453і íAі<4і: 
�0;4K�B0@K=K§ 1>;CK<5= 0=K�B0;04K. &53іA :5Aі;35= 10AB0?�K í§45C :57і=45 53C �-701, 

�-700�, %�&%-2, %�%-2.1 A5?:іHB5@ =5<5A5 �6>=-�8@ 9320, #� �6>= �8@ 1820 B±�K< 
A51C :5H5=45@і 0@�K;K 6¯7535 0AK@K;04K, 4535=<5= %�#-2,148A:і;і A5?:іHB5@<5= 2 :¯= 
1±@K= 6±<KA іAB5C35 <¯<:і=4і: 15@5Bі=і= 5A:5@C �065B. 03@>B5E=8:0;K� B0;0?B0@4K 
A0�B0C �065B. 
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�5AB5 6 – �@?0 <5= A±;K=K§ ±AK=K;0BK= A51C <í;H5@і 

&018�8-

:;8<0BBK� 09<0� 

&±�K<=K§ A51C <í;H5@і 
<;=. 40=0./30 :3/30 

<8=8<0;L4K <0:A8<0;L4K <8=8<0;L4K <0:A8<0;L4K 

�0;0 2,7 3,0 130 140 

�±@�0� 40;0 2,5 2,5 110 130 

�0@BK;09 Hí;4і  2,3 2,3 105 125 

 

�7іEFі>Fі >үFG. �3іAB5= :59і= B>?K@0� �K@BKAK= 6>N ¯Hі=, A>=409-0� í=5Bі= 1і@6K;4K� 
0@0<Hí?B5@4і 6>N ¯Hі= �065B 1>;�0= 60�40940  &�-80/82, ��%%-1,0 6Ý=5 HK��0==0= 
:59і=3і ���%%-1,0 =5<5A5 �%"-4 BK@<0;0@K= 6¯@3і7C35 1>;04K. &K@<0;0C <±�8OB, 3-4 

A<-45= 0A?09BK= B5@5§4і:B5 =5<5A5 A51C 10�KBK=0 �0@09 1±@KHB0 6¯@3і7і;54і. 
�@?0 6Ý=5 A±;K 40�K;40@K=K§ D8B>A0=8B0@;K� 60�409K= 5A:5@5 >BK@K?, 

0@0<Hí?B5@45=, 0C@C;0@40= 6Ý=5 78O=:5AB5@45= :5H5=4і �>@�0C 6¯@3і7і;C45. 
 

�±@4= 

АEFыққ4 4DA4?ғ4A 4G84A84EFыDы?ғ4A EBDFF4D – �0<KH8=A:>5 75, $0==89 
O=B0@L 161, �5@30G52A:89, �>=A:>5 35, �A�;87M, �A�8?5@8>=, �0;0BC@, %065=L, 
%;02O=A:>5 #@8CA0451=>5. 

А?ғы 84қы?84D. �±<094K§ 5§ 60�AK 0;�K 40�K;40@K - :¯74і:, 6074K� 40�K;40@ 
6Ý=5 6¯35@і. �±<09 ¯74і:Aі7 íAі@C35 45 HK4094K. 

&BCыD4қFы өң89G. !53і73і í§45C4і �#�-250 B53іA :5A:іH?5= =5<5A5 #�!-4-35 

A>�0AK<5= 25-27 A< B5@5§4і:B5 6¯@3і754і. 
&>?K@0�BK 53іA 0;4K=40�K í§45C 5@B5 :í:B5<45 K;�0;4K 601C40= 6Ý=5 

0@0<Hí?B5@4і 6>N40= B±@04K (0;�0H�KAK 8-10 A<, A>40= :59і= B±�K< A51C B5@5§4і3і=5 
459і=) A0�8=0;K @>;8:B5@<5= <і=45BBі B¯@45 8;5:B5C 0@�K;K B±�K<40@4K. 

&ың4=Fқыш. �±<09 A¯@;5<і=і§ 5§ 6>�0@K í=і<і AC0@C 6Ý=5  &�-80 1$ �-4, 

 �'-5 B>;K� <8=5@0;4K BK§09B�KHB0@4K N90-120P60-90K 45-60 <í;H5@і=45 5=3і7C 0@�K;K 
0;K=04K. 

�7іE. �±<09 B±�K<K= 409K=40C4K A51C45= 1-1,5 09 1±@K=, 6K;K :¯=45@і ¯9-60940 
65;45Bі?, 0; A51C45= 3-5 :¯= 1±@K= 0HK� 65@45 0C0-B5@<8O;K� �K74K@C 0@�K;K 10AB0C 
:5@5:. �±; B±�K<=K§ í=Cі= 60�A0@B04K 6Ý=5 53і= í=і<4і;і3і= 0@BBK@04K. 

�±<09 53C ¯Hі= �>;09;K C0�KB <0<K@ 09K=K§ 1і@і=Hі – 5:і=Hі >=:¯=4і3і 4-6 A< 

B5@5§4і:B5 %#+-6 =5<5A5 %'#!-8 A5?:іHB5@і=, A>=409-0� %�%-2,1 A5?:іHB5@і<5= 5:і 
A0?B0<0 0@�K;K 6¯@3і754і. &±�K< A51C =>@<0AK 53і= 68=0C 0;4K=40�K íAі<4і: BK�K74K�K 
1 35:B0@�0 150-180 <K§ íAі<4і: 1>;CK= �0<B0<0AK7 5BCі :5@5:. 

 

�5AB5 7 – �±<094K§ ±AK=K;0BK= A51C <í;H5@і 

&018�8-

:;8<0BBK� 09<0� 

&±�K<=K§ A51C <í;H5@і 
<;=. 40=0./30 :3/30 

<8=8<0;L4K <0:A8<0;L4K <8=8<0;L4K <0:A8<0;L4K 

�0;0 
�±@�0� 40;0 3,5 4,0 20 25 

 

�7іEFі>>9 >үFі@ 40�K;40@4K :í;45=5§і=5= =5<5A5 �8�0HK=0= 1і@ 6>;�0 
BK@<0;0C40=, A>=409-0� :C;LB820B>@;0@<5= �0B0@ 0@0;K� í§45C45= B±@04K. �35@ 
40�K;40@ íB5 �0BBK 70�K<40=A0, >=K 35@18F84B5@<5= 5<45C35 1>;04K. �±<094K AC0@<0;K 
B¯@45 íAі@C :57і=45 600-800 <3/30 6K;40<4K�?5= 3-4 @5B AC0@C 6¯@3і7і;54і. �0B0@ 0@0;K� 
í§45C4і  &�-80/82, �$!-5,6 6¯@3і754і. 
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�<A4G. �±<09 10;0CK7 B±�K<K=K§ ?іAC D070AK=40 68=0;04K. �±; :575§45 
68=0;�0= �±<094K§ 60AK; <0AA0AK=0= 409K=40;�0= A¯@;5<=і§ �>@5:Bі: �0A85BB5@і 
6>�0@K 1>;04K. 

 

&4Dы 

АG84A84EFыDы?ғ4A EBDFF4D –%0@0B>2A:>5 10, '@0;LA:>5 109, �>@<>2>5 98, /@:>5 
7, /@;K: �0BK@0. 

А?ғы 84қы?84D. �3іABі: 0CKA?0;K 53іAB5@453і B0@K ¯Hі= 5§ 60�AK ?@54H5AB25==8: 
– :¯74і: 40�K;40@. 

&0@K=K§ í7і 60�AK ?@54H5AB25==8: 1>;�0=K 40 <0§K74K. &K§40�0==0= :59і= 
5:і=Hі 40�K; @5Bі=45 >@=0;0ABK@K;�0= >; B>?K@0�BK§ 1і@ <5B@;і: �010BK=40 20-30 << 
0@BK� í=і<4і K;�0; �0;4K@4K. 

�¯35@і <5= AC40= Hí1і= B0@K �>AK;�0= 0CKA?0;K 53іA:5 A0;C�0 1>;<094K, í9B:5=і 
>;0@ B>?K@0�BK§ «B0@K BÝ@і74і» 0@0<Hí?B5@<5= ;0AB0=CK= :¯@B 0@BBK@04K. 

&BCыD4қFы өң89G. &0@K B>?K@0�BK =53і73і í§45C4і§ Ý4іAB5@і <5= Ý4іAB5@і= 
0=K�B0C�0 A0@0;0=�0= BÝAі;35 10@K=H0 60C0? 15@54і.   

&>?K@0��0 0@0<Hí? B±�K<40@K= 5=4і@C, ¯ABі§3і �010BBK �>?AKBC 6Ý=5 K;�0;4K§ 
6>�0;CK= 0709BC ¯Hі= =53і73і í§45C 0;4K=40 65@ ¯ABі í§45C :5@5:. 

%>=K<5= �0B0@, B>?K@0�BK 10AB0?�K í§45C Ý4іAі= B0§40�0= :5745 53іABі: 65@;5@453і 
M@>78O=K§ K�B8<0; K�B8<0;4K�K= 40 5A:5@C �065B. 

�0;K??5= í§45;35= 65@4і A5@і??5;і BK@<0;0C ���&'-1,0 =5<5A5 ���%%-1,0 BіA 
BK@<0;0@K<5= 5:і 6>;4K, 0; B53іA :5Aі;35= í§45C :57і=45 ���-3, � ,-15 8=5 
BK@<0;0@K<5= 6¯@3і7і;54і. 

�#--3,8, �#%-4, "#-8 53іA 0;4K=40�K :C;LB820F8O;0@ ���,-6 A0�8=0;K 
HK�K@HK�B0@K 10@ 03@530BB0 6-8 A<-45= 0A?09BK= B5@5§4і:B5 6¯@3і7і;54і (Ý45BB5 5:і45= 
:5< 5<5A) 0@0<Hí?B5@35, 53іA 0;4K=40�K :575§=і§ ±70�BK�K=0, 0C0 @09K=0 6Ý=5 10A�0 
60�409;0@�0 109;0=KABK. 

 &0@K A51C 0;4K=40 40�K;4K§ B>;K� íA:і=і=5 :5?і;4і: 15@C ¯Hі= B±�K< �010BK=40 
í=і<4і K;�0;4K§ 65B:і;і:Bі <í;H5@і= 6Ý=5 >=K§ >§B09;K �±@K;K<K= A0�B0C íB5 
<0§K74K. 

&ың4=Fқыш. (>AD>@4K§ =53і73і 4>70AK >=K 0CKA?0;K 53іAB5 10@;K� 40�K;40@<5= 
�0<B0<0AK7 5BC ¯<іBі<5= BK§09�0= B0=0?�0 15@і;54і. �¯74і: 40�K;40@40= :59і= B0@K 
>@=0;0ABK@C :57і=45 N15P15 53іA 0;4K=40 �>;40=C í<і@4і§ 0;�0H�K :575§45@і=45 
íAі<4і:B5@4і§ 6K;40< íACі <5= 40<CK= �0<B0<0AK7 5BC ¯Hі= 65B:і;і:Bі. &0@K - 1±; 
�>;40=C Ý4іAі=5 5§ A57і<B0; 40�K;40@4K§ 1і@і. 

�7іE. &±�K<40@4K A51C35 409K=40C >;0@4K AB0=40@B B0;0?B0@K=0 AÝ9:5A :5;Bі@C4і 
6Ý=5 K;�0;4K, 60@BK;09 �±@�0� =5<5A5 �±@�0� Ý4іA?5= 0C@C;0@ :5H5=і=5 �0@AK <і=45BBі 
5<45C4і �0<BCK :5@5:. 

&0@K, Ý45BB5, B±�K<4K B>?K@0�BK§ K;�0;4K �010BK=0 5=4і@C45 48A:і;і 
A5?:іHB5@35 �0@0�0=40 60�AK@0� A5?:іHB5@<5= �0B0@ 53і;54і. "@0; 0CK;H0@C0HK;K� 
BÝ6і@815 AB0=F8OAK 40�K;40@4K -10-12°%-�0 459і= �K74K@K;�0= B>?K@0��0 A51C :57і=45 
5§ 60�AK =ÝB865 15@5Bі=і= 0=K�B04K. �¯=Bі715 1>9K=H0 1±; <0<K@4K§ 1і@і=Hі 
>=:¯=4і3і=і§ A>§K – 5:і=Hі >=:¯=4і3і=і§ 10AK=0 :5;54і. 

%CK� <573і;45 5@B5 A51C35 6Ý=5 �±@�0� B>?K@0�B0 :5H A51C35 6>; 15@<5C <0§K74K. 
�і@і=Hі 60�40940 :íH5BB5@ ±70� C0�KB 1>9K ?0940 1>;<094K, 0; 5:і=HіAі=45 53іABі: 
0@0<Hí?B5@ 10AK? :5B:5=, :íH5BB5@ 1і@:5;:і 5<5A, A8@5: 6Ý=5 60�AK B0<K@ 0;<094K; 
!ÝB865Aі=45 í=і<4і;і: :¯@B Bí<5=4594і. 

�±@�0� 6K;40@40 B0@K=K 5@B5@5:, 0; ACK� :í:B5<3і K;�0;4K 6K;40@K :59і=і@5: 
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B0;0? 5Bі;<59Bі= 6Ý=5 Ý@B¯@;і B>?K@0� ?5= :;8<0BBK� 60�409;0@�0 >§09 159і<45;5Bі= 
40�K;. ,0@C0HK;K� M:>=><8:0AK= =K�09B0 B¯A5Bі= (>@B0H0 í=і< 10-13 F/30) í=і<Aі7 
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2535B0F8O;K� :575§45 K;�0;4K§ 65BіA?5Cі=5 6Ý=5 6>�0@K B5<?5@0BC@0�0 60�AK Bí754і, 
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�065BBі;і3і=5 Ý:5;54і.  0�A0@K;0@4K �0B0@ 0@0;K�K 30 A< 5Bі? A5?:5=45 0@0<Hí?B5@4і§ 
íACі= <0�A0@K4K§ í7і B5659Bі=і BÝ6і@815 6¯7і=45 0=K�B0;�0=. 

 

�5AB5 11 –  0�A0@K=K§  ±AK=K;0BK= A51C <í;H5@і 

&018�8-

:;8<0BBK� 09<0� 

&±�K<=K§ A51C <í;H5@і 
<;=. 40=0./30 :3/30 

<8=8<0;L4K <0:A8<0;L4K <8=8<0;L4K <0:A8<0;L4K 

�0;0 
0,5 0,6 25 30 

 

�7іEFі>>9 >үFі@.  0�A0@K =53і7і=5= :¯=10�KA�0 H01CK; 60A09BK= 6Ý=4і:B5@<5= 
70�K<40;04K, 1і@0� >AK 40�K;�0 �0=0 BÝ= 78O=:5AB5@ 45 10@.  0�A0@K HK1K=K – 
±7K=4K�K 4-5 <<, �0=0BK 10-11 << 1>;0BK= A±@-60AK; :іH:5=B09 6Ý=4і:. ,K1K= 
45@=ÝAі;45@і 0O�AK7, 0� 1>;K? :5;54і 6Ý=5 <0�A0@K 3¯;H>�K@K=0 5=і?, B±�K< í753і= 
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0@0<Hí?B5@, ;/30 

�í?6K;4K� 6Ý=5 
�>A60@=0�BK 
0@0<Hí?B5@,;/30 

�í?6K;4K� 78O=4K 
0@0<Hí?B5@ (C :5:і@5, 109;0C 

B.1.), ;/30 
�;8A>;,36% 2.@., 2- 4 

�;8D;30= 48%, 2.@.2- 4 

�><8=0B>@3602.@.2- 4 

%B8=3 360 2.@. 2,5-3 

$0C=40?  36% 2.@. 2- 4 

�;07 360 2.@. 2- 4 

�;8D>A0B 48% 2.@. 2-3 

'@030= 4802.@.2- 4 

'@030= D>@B5 2.@. 2,5-3 

&>@=04> 2.@. 2- 4 

(>70B2.@. 2-3 

�;8A>; 36% 2.@. 4-6 

�;8D>30= 48% 2.@. 4-5 

�><8=0B>@ 360 2.@. 2- 4 

%B8=3 360 2.@. 2,5-3 

$0C=40? 36% 2.@. 4-6 

�;07 360 2.@. 4-8 

�;8D>A0B 48% 2.@. 2-3 

'@030= 480 2.@. 2-4 

'@030= D>@B5 2.@. 2,5-3 

&>@=04> 2.@. 4-6 

(>70B2.@. 3-4 

�;8A>; 36% 2.@. 6-8 

�><8=0B>@ 360 2.@. 6 
%B8=3 360 2.@. 6 
$0C=40? 36% 2.@. 6-8 

�;8D>A0B 48% 2.@. 6 
'@030= 480 2.@. 6 
'@030= D>@B5 2.@. 3,5 
&>@=04> 2.@. 6 
(>70B2.@. 6 

 

�CK;H0@C0HK;K� 0;�0?B0@K=40 ACAK<0;K Hí?B5@<5= :¯@5AC45 20=25;480 2.@. 
B8і<4і ?0940;0=C�0 1>;04K. - 20-40 ;/30, 0@A5=0; 2.:. - 2-2,5 ;/30. 

�Ý=4і 40�K;40@�0 �0@AK 35@18F84B5@4і§ 0AA>@B8<5=Bі íB5 Ý@B¯@;і 5<5A. &>?K@0� 
35@18F84B5@і 02045:A �� 6Ý=5 B@80;;0B B0@ <0�A0BBK ÝA5@ 5B54і. #0940 1>;�0= 
35@18F84B5@ B8іABі <í;H5@45 �>;40=C :57і=45 60109K A±;K40= 10A�0, B0@K BÝ@і74і 
0@0<Hí?B5@4і 6>O4K. 

&>?K@0� 35@18F84B5@і= ?0940;0=�0= :5745 53іABі:Bі§ B53іABі3і= �0<B0<0AK7 5Bі?, 
<¯<:і=4і3і=H5 íAі<4і: �0;4K�B0@K=K§ <í;H5@і= 0709BC :5@5:. "AK B±@�K40= 0;�0=40, 1±; 
35@18F84B5@4і 18409 A51і;35==5= :59і= 1і@45= �>;40=�0= 6í=. �09K=4K�B0@4K B>?K@0��0 
<±�8OB 5=3і7C :5@5:, 18409 4Ý=45@і <5= 35@18F84 B>@K=K§ 0@0AK=40 2-3 A< B>?K@0� 
�010BK 1>;CK :5@5:. 

�í?6K;4K� 0@0<Hí?B5@ A0=K 3,6 40=0/<2 =5<5A5 1і@6K;4K� 0@0<Hí?B5@ – 20,5 

40=0/<2 65BA5, :¯74і: 40�K;40@4K E8<8O;K� 0@0<Hí?B5@45= 0@K;BC M:>=><8:0;K� 
B±@�K40= B8і<4і. �074K� 18409 ¯Hі= 78O=4K;K�BK§ M:>=><8:0;K� H53і 2,2 40=0/<2 
45§359і=45 15;3і;5=4і. �=2078O=K§ 1і@ 6K;4K� �>A60@=0�BK B¯@і<5= 78O=4K;K� H53і 4,4 
�±@094K, 0; 7,6 40=0/<2 1>;A0, >=K<5= :¯@5AC M:>=><8:0;K� B±@�K40= B8і<4і. 

�=2078O=K§ 0ABK� B¯@і<5= 70�K<40=C 19,1 40=0/<2 0@BK� 1>;A0, �>@�0=KA 
H0@0;0@K �065B. �0@0=B8=4і: 0@0<Hí?B5@ �0=H0;K�BK і@і 1>;A0 40 6>9K;04K. 

 

�5AB5 30 - �074K� 18409 40�K;40@K=0 35@18F84B5@4і �>;40=C 
�@0<Hí?B5@ �>;40=C <5@7і<і �5@18F84 ,K�KA <í;H5@і 

�0109K A±;K �3іA 0;4K=40�K í§45C �2045:A �.�. 1,7-3,4 ;/30 

2-4 60109K A±;K 60?K@0�K 
D070AK=40 

�@0A? 0,8 ;/30 

-5B8==8:B5@, B0CK� 
B0@K, 1і@ 6K;4K� 
4Ý=4і 40�K;40@ 
 

�:і=Hі 60?K@0� :575§і=5= 
0@0<Hí?B5@4і AK?K@C�0 
459і=3і 2535B0B82Bі 
0@0<Hí?B5@35 

#C<0AC?5@ 100 0,6-0,9 ;/30 

�>A60@=0�BK;0@ &¯?B5=C – B¯Bі:B5=C :575§і  CH:5B + 
�57>@<>=MD8@ 

50 3/30 + 0,35 ;/30 
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�@B5 í§45C D070AK=40 (3-4 

60?K@0�) 6¯:B5C35 459і= (1-
2 B¯9і= 0@0;K�) 

%5:0B>@ &C@1>, 
%5:0B>@ &C@1> + 
�57>@<>= MD8@ 

70 <;/30 
50 <;/30 + 0,3 ;/30 

�Ý=4і 
�>A60@=0�BK;0@ 

 0A0�B0=C�0 459і= B¯?B5=C 
:575§і=45 
 

�B;0=B8A + #��, 
#C<0 AC?5@ 7,5 + 
�::C@0B 

0,2-0,4 + 0,6 ;/30 
0,8 ;/30 + 7 3/30 

 

�9B0 :5BC :5@5:, �070�AB0=40 �>;40=C�0 @±�A0B 5Bі;35=  CH:5B, %5:0B>@ &C@1>, 
�B;0=B8A 6Ý=5 #C<0 AC?5@ 35@18F84B5@і=і§ �±@0<K=40 5<45C :57і=45 53і==і§ :¯975;іAі= 
:5Bі@5Bі= 0=B84>BB0@ 10@. 

#5AB8F84B5@4і �>;40=C :57і=45 0@0<Hí?B5@4і§ Bí7і<4і;і3і= 40<KBC40 ¯;:5= <ÝA5;5 
BCK=4094K. 

�±; <ÝA5;5=і 1>;4K@<0C ¯Hі= Ý@B¯@;і B>?B0�K ?5AB8F84B5@4і§ 09=0;K<K= A0�B0C 
:5@5: - >;0@4K �>;40=C4K§ 4±@KA B5E=>;>38OAK. %>§�K 6K;40@K :5§ B0@0;�0= 
?5AB8F84B5@4і C;LB@0 07 :í;5<4і 1¯@:C Ý4іAі<5= �>;40=�0= 60�40940 0@=09K �±@0<40@4K 

�>;40=C �065B. 
#5AB8F84B5@4і ?0940;0=0BK= �K7<5BB5= 5§ B>;K� �09B0@K<�0 B5E=>;>38O=K§ 

10@;K� 10A�0 M;5<5=BB5@і 6>�0@K í=і< 0;C�0 10�KBB0;�0= 60�40940 �0=0 �>; 65B:і7C35 
1>;04K. 

�Ý=4і 40�K;40@4K 78O=:5AB5@45= �>@�0C4K§ B5E=>;>38O;K� AE5<0AK :5;5Aі 
>?F8O;0@4K �0<B84K: 

- B±�K<4K� <0B5@80;4K B5: B¯?=±A�0 í=4і@CHі;5@45= A0BK? 0;K=�0= 70<0=0C8 
4578=D5:F8O;K� �±@0;40@<5= <і=45BBі B¯@45 í§45C; 

- íAC @5BB53іHB5@і 10@ @575@2C0@;K �>A?040�K 35@18F84B5@<5= :5AC :575§і=45 
40�K;40@4K í§45C. 



1 �BEы@ш4 
�4FыE �4;4�EF4A B5?ыEыAы§ F45<�<->?<@4FFы� 4=@4�F4Dы :4�84=ыA84 

54Eы@8ы�Fы :4;8ы� 84�ы?84D8ы E95G8і§ B§F4=?ы @9D;і@89Dі 
2025 :ы?ы 

№ 

 

�4�ы?84D 4F4Gы 

&45<�<->?<@4FFы� 4=@4�F4D 

�іDіAші 9>іAші ¯шіAші 

54EF4G 4я�F4G 54EF4G 4я�F4G 54EF4G 4я�F4G 
*�í>F9@Aі§ 9DF9 >9?Gі 

1 �@?0,A±;K 20 AÝCі@ 5 <0<K@ 15  AÝCі@ 30  AÝCі@ 10  AÝCі@ 25  AÝCі@ 
2 �074K� 18409 5  <0<K@ 25  <0<K@ 1  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
3 &0@K 15  <0<K@ 25  <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 15  <0<K@ 
4 !>�0B 1  <0<K@ 15  <0<K@ 25  AÝCі@ 5  <0<K@ 25  AÝCі@ 5  <0<K@ 
5 �¯=10�KA 1  <0<K@ 15  <0<K@ 25  AÝCі@ 5  <0<K@ 25 AÝCі@ 5  <0<K@ 
6  09;K 7K�K@ 5  <0<K@ 25  <0<K@ 1  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
7  0�A0@K 5  <0<K@ 25  <0<K@ 1  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
8 �í?6K;4K� Hí?B5@ 20  AÝCі@ 25  AÝCі@ 15  AÝCі@ 20  AÝCі@ 10  AÝCі@ 15  AÝCі@ 
9 %C40= Hí1і 15  <0<K@ 30  <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 15  <0<K@ 

10 �±<09 15  <0<K@ 30  <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 15  <0<K@ 
11 �0@B>? 30  AÝCі@ 15  <0<K@ 25  AÝCі@ 15  <0<K@ 20  AÝCі@ 10  <0<K@ 
12 �í:í=іA 40�K;40@K 15  <0<K@ 15 <0CAK< 5  <0<K@ 5 <0CAK< 1 <0<K@ 5  <0CAK< 

13 �0�H0 40�K;40@K 1  <0<K@ 1  <0CAK< 25  AÝCі@ 25  <0<K@ 25  AÝCі@ 25  <0<K@ 

*�í>F9@Aі§ BDF4ш4 G4�ыFы 

1 �@?0,A±;K 25  AÝCі@ 5  <0<K@ 20  AÝCі@ 30  AÝCі@ 15  AÝCі@ 25  AÝCі@ 
2 �074K� 18409 10  <0<K@ 25  <0<K@ 5  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
3 &0@K 20  <0<K@ 25  <0<K@ 10  <0<K@ 15  <0<K@ 5  <0<K@ 10  <0<K@ 
4 !>�0B 5  <0<K@ 15  <0<K@ 25  AÝCі@ 5  <0<K@ 25  AÝCі@ 5  <0<K@ 
5 �¯=10�KA 5  <0<K@ 15  <0<K@ 25  AÝCі@ 5  <0<K@ 25  AÝCі@ 5  <0<K@ 
6  09;K 7K�K@ 10  <0<K@ 25  <0<K@ 5  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
7  0�A0@K 10  <0<K@ 25  <0<K@ 5  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
8 �í?6K;4K� Hí?B5@ 25  AÝCі@ 1  <0<K@ 20  AÝCі@ 25  AÝCі@ 15  AÝCі@ 20  AÝCі@ 
9 %C40= Hí1і 15  <0<K@ 30  <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 15  <0<K@ 

10 �±<09 15  <0<K@ 30  <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 15  <0<K@ 
11 �0@B>? 30  AÝCі@ 25  <0<K@ 25  AÝCі@ 25  <0<K@ 20  AÝCі@ 25  <0<K@ 
12 �í:í=іA 40�K;40@K 

15  <0<K@ 15  

<0CAK< 
5  <0<K@ 5 8N=O 1  <0<K@ 5  <0CAK< 

13 �0�H0 40�K;40@K 1  <0<K@ 1  <0CAK< 25  AÝCі@ 5  <0CAK< 20  AÝCі@ 5  <0CAK< 

*�í>F9@Aі§ >9ш >9?Gі 

1 �@?0,A±;K 1  <0<K@ 10   <0<K@ 25  AÝCі@ 5  <0<K@ 20  AÝCі@ 1  <0<K@ 
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* �í:B5<=і§ 10AB0;CK=K§ >@B0H0 C0�KBK 30-31 =0C@K740 00%-�0 0CKAC. 00% 0@�K;K 5@B5 6Ý=5 :5H 
íBC :í:B5<=і§ 5@B5 6Ý=5 :5H 10AB0;CK=0 AÝ9:5A :5;54і. 

�0�K;40@4K :59і=і@5: A51C <5@7і<і 53іA 0;4K=40�K :575§45 0@0<Hí?B5@<5= :¯@5AC H0@0;0@K<5= 
1і@35 6¯@Cі :5@5:. 

 

2 �BEы@ш4 
�4FыE �4;4�EF4A B5?ыEыA84 4Gы?ш4DG4шы?ы�ы 84�ы?84Dы ¯шіA ±EыAы?4FыA 

E95G ABD@4?4Dы, 2025 : 

2 �074K� 18409 15   <0<K@ 25   <0<K@ 5  <0<K@ 15  <0<K@ 1  <0<K@ 10  <0<K@ 
3 &0@K 20   <0<K@ 30   <0<K@ 10  <0<K@ 20 <0CAK< 5  <0<K@ 20  <0<K@ 
4 !>�0B 10   <0<K@ 20   <0<K@ 5  <0<K@ 15 <0CAK< 1  <0<K@ 15  <0<K@ 
5 �¯=10�KA 10   <0<K@ 20   <0<K@ 5  <0<K@ 15 <0CAK< 1  <0<K@ 15  <0<K@ 
6  09;K 7K�K@ 15   <0<K@ 25   <0<K@ 5  <0<K@ 15 <0CAK< 1  <0<K@ 10  <0<K@ 
7  0�A0@K 15   <0<K@ 25   <0<K@ 5  <0<K@ 15 <0CAK< 1  <0<K@ 10  <0<K@ 
8 �í?6K;4K� Hí?B5@ 1   <0<K@ 5   <0<K@ 25  AÝCі@ 30  AÝCі@ 20  AÝCі@ 25  AÝCі@ 
9 %C40= Hí1і 20   <0<K@ 30   <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 20  <0<K@ 

10 �±<09 20   <0<K@ 30   <0<K@ 10  <0<K@ 20  <0<K@ 5  <0<K@ 20  <0<K@ 
11 �0@B>? 5   <0<K@ 30  <0<K@ 1  <0<K@ 30  <0<K@ 1  <0<K@ 30  <0<K@ 
12 �í:í=іA 40�K;40@K 

15   <0<K@ 15  

<0CAK< 
10  <0<K@ 5  <0CAK< 5  <0<K@ 5  <0CAK< 

13 �0�H0 40�K;40@K 5   <0<K@ 5  <0CAK< 1  <0<K@ 5  <0CAK< 1  <0<K@ 5  <0CAK< 

�4�ы?84D %4Aы,  

шF./C.9/74 
&4D4;ы?ы� 
@í?ш9Dі, >7/74 

�074K� 18409 3,0-4,0 <;=.HB./30 110-130 

�¯74і: 18409 3,2-4,5 <;=.HB./30 110-150 

�¯74і: �0@0 18409 3,0-3,5 <;=.HB./30 110-135 

�¯74і: B@8B8:0;5  2,7-3,0 <;=.HB./30 130-150 

�@?0 2,6-3,0 <;=.HB./30 115-130 

&0@K 2,2-3,2 <;=.HB./30 20-35 

%±;K 2,5-2,7 <;=.HB./30 95-100 

�0@0�±<K� 2,5-2,8 <;=.HB./30 50-55 

!>�0B 0,7-0,8 <;=.HB./30 170-200 

�0@0�±<K� 1,8-2,3  <;=.HB./30   120-160 

%>O 0,4-0,8  <;=.HB./30   70-100 

�Ý=4і: �±<09, DC@06=>5 2,0-2,5 <;=.HB./30  16-25 

�Ý=4і: �±<09 F1 250000-300000 HB./30; 1 ?.5. 5,5-7 

�±<09-AC40=4K� 1C40= 0,5-1,2  <;=.HB./30; 1 ?.5. 10-35 

%C40= Hí1і 1,8-3,5 <;=.HB./30 10-30 

,í?:5 MA?0@F5B 3,0 <;=.HB./30 55-60 

&±�K<�0 MA?0@F5B 2,0 <;=.HB./30 40 

,í?:5 5@:5:Hí? 3,0 <;=.HB./30 10 

&±�K<�0 5@:5:Hí? 1,7-2,0 <;=.HB./30 6-8 

&±�K<�0 6>§KH�0 4-5 <;=.HB./30 8-10 

,í?:5 6>§KH�0 6-8 <;=.HB./30 10-12 

&±�K<�0 B¯956>§KH�0 4-5 <;=.HB./30 8-10 
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* %0;<0�K A51C =>@<0AK (:3/30) B±�K<=K§ :í;5<і=5 (1000 4Ý==і§ A0;<0�K), B±�K< <0B5@80;K=K§ A0?0AK=0 6Ý=5 A51C 
Ý4іAі=5 109;0=KABK. 

,í?:5 B¯956>§KH�0 6-8 <;=.HB./30 10-12 

�KH0 2,0-4,0 <;=.HB./30 9-18 

 0�A0@K 0,5-0,8 <;=.HB./30 25-30 

�¯=10�KA 40000-60000 HB./30 4-5 

�¯=10�KA F1 0,4 ?.5. 4-5 

,í?:5 6¯35@і 60000-80000 HB./30; 1 ?.5. 25-30 

%8;>A�0 6¯35@і 80000-160000  HB./30; 1-2 ?.5. 30-60  

�K�K@ 2,5-3,4 <;=.HB./30 30-45 

�0@B>? 40000-57000 HB./30 2500-3000 

�5<іA-6845: (:íH5B) 400-2500 HB./30  

�HK� 65@453і 6845:B5@  4000-63000  HB./30  

�01K� 65@453і 6845:B5@ 4> 300000  HB./30  

�¯7і< (GC1C:8) 1600-2200  HB./30  
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3 �BEы@ш4 
�4FыE �4;4�EF4A B5?ыEыA84 EG4DG�4 EG5E<8<я?4G ¯шіA @<A9D4?8ы Fы§4=F�ышF4D8ы �B?84AG ABD@4?4Dы (>7/74, ?/74) 

2025 :ы?�4 4DA4?�4A  

№ 
?/? &ы§4=F�ыш F¯Dі 

98. 
<;@9
D9A<
я 

F±�ы@�4 :¯79Dі >4DFBC 

(5B?99 30 F/74)** >í>íAіE 54�ш4 84�ы?84Dы 

4�ы@84�ы :ы?ы 
>íC:ы?8ы� 
84�ы?84D  

íF>9A :ы?�ы 
>íC:ы?8ы� 
84�ы?84D  

    

�9?E
9A8і 
;4FF4 
�B?8
4AG 
@í?
ш9Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
�B?8
4AG 
@í?
ш9Dі 

(<;<>
4?ы� 
E4?@4
�F4 
F¯D?9
A8іDG 
>BэHH
<ц<9A
Fі 

�9?E
9A8і 
;4FF
4 
�B?8
4AG 
@í?
ш9Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
�B?8
4AG 
@í?
ш9Dі 
Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
F¯D?
9A8і
DG 
>Bэ
HH<
ц<9A
Fі 

�9?E9
A8і 
;4FF4 
�B?84
AG 

@í?ш9
Dі 

(<;<>4?
ы� 

E4?@4�F4 
�B?84AG 
@í?ш9Dі 

(<;<>4
?ы� 
E4?@4�
F4 
F¯D?9A
8іDG 
>BэHH<
ц<9AFі 

�9?E9
A8і 
;4FF4 
�B?84
AG 

@í?ш9
Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
�B?8
4AG 
@í?
ш9Dі 

(<;<>
4?ы� 
E4?@4
�F4 
F¯D?9
A8іDG 
>BэHH
<ц<9A
Fі 

�9?E
9A8і 
;4FF
4 
�B?8
4AG 
@í?
ш9Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
�B?8
4AG 
@í?
ш9Dі 

(<;<>
4?ы� 
E4?@4
�F4 
F¯D?9
A8іDG 
>BэHH
<ц<9A
Fі 

�9?E
9A8і 
;4FF
4 
�B?8
4AG 
@í?
ш9Dі 

(<;
<>4
?ы� 
E4?@
4�F4 
�B?8
4AG 
@í?
ш9Dі 

(<;<>
4?ы� 
E4?@4
�F4 
F¯D?9
A8іDG 
>BэHH
<ц<9A
Fі 

1 

�<<80G=0O A5;8B@0, N 34,4 :3/30 60 175 2,91 130 378 2,91 85 247 2,91 60 175 2,91 - - - 60 175 2,91 

%5;8B@0 0<<80G=0O, N 34,4 :3/30 60 175 2,91 130 378 2,91 85 247 2,91 60 175 2,91 - - - 60 175 2,91 

%5;8B@0 0<<80G=0O <0@:8 �, N 
34,4                        

:3/30 60 175 2,91 130 378 2,91 85 247 2,91 60 175 2,91 - - - 60 175 2,91 

2 

%C;LD0B 0<<>=8O, N-21 :3/30 60 286 4,76 130 619 4,76 85 405 4,76 60 286 4,76       60 286 4,76 

%C;LD0B 0<<>=8O-?>1>G=K9 
?@>4C:B, N-21 

:3/30 60 286 4,76 130 619 4,76 85 405 4,76 60 286 4,76       60 286 4,76 

%C;LD0B 0<<>=8O 
:@8AB0;;8G5A:89, N-21, S-24 

:3/30 60 133 2,22 130 289 2,22 85 187 2,22 60 133 2,22       60 133 2,22 

3 

�0@10<84, N-46        :3/30 60 130 2,17 130 282 2,17 85 184 2,17 60 130 2,17       60 130 2,17 

�0@10<84, N-41,2, K2O-5,5   :3/30 60 128 2,14 130 278 2,14 85 182 2,14 60 128 2,14       60 128 2,14 

�0@10<84, N-46        :3/30 60 130 2,17 130 282 2,17 85 184 2,17 60 130 2,17       60 130 2,17 

�0@10<84, N-46,2       :3/30 60 130 2,16 130 281 2,16 85 184 2,16 60 130 2,16 - - - 60 130 2,16 

�0@10<84, N-46,3        :3/30 60 130 2,16 130 281 2,16 85 184 2,16 60 130 2,16       60 130 2,16 

�0@10<84, N-46,6 :3/30 60 129 2,15 130 280 2,15 85 183 2,15 60 129 2,15       60 129 2,15 

�0@10<84, <0@:8 �, N-46  :3/30 60 130 2,17 130 282 2,17 85 184 2,17 60 130 2,17       60 130 2,17 

�0@10<84, <0@:8 �, N-46,2 :3/30 60 130 2,16 130 281 2,16 85 184 2,16 60 130 2,16       60 130 2,16 

4 

�84:>5 C4>1@5=85 ��%+,N-28-

34, K2O-0,052, SO3-0,046, Fe-

0,04 (2=5:>@=520O ?>4:>@<:0) 
:3/30 20 59 2,94 60 176 2,94 20 59 2,94 15 44 2,94             

'4>1@5=85 684:>5 07>B=>5 
(��%), N-32 (2=5:>@=520O 
?>4:>@<:0) 

:3/30 20 63 3,13 60 188 3,13 20 63 3,13 15 47 3,13             
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'4>1@5=85 684:>5 07>B=>5, 
<0@:0 ��%-32, N-32 

(2=5:>@=520O ?>4:>@<:0) 
:3/30 20 63 3,13 60 188 3,13 20 63 3,13 15 47 3,13             

'4>1@5=85 684:>5 07>B=>5 
(��%), N 0<<>=89=K9 - 6,8, N  

=8B@0B=K9 - 6,8,  

N 0<84=K9 - 13,5 (2=5:>@=520O 
?>4:>@<:0) 

:3/30 20 71 3,57 60 214 3,57 20 71 3,57 15 54 3,57             

4 

�84:>5 C4>1@5=85 ��%+,N-28-

34, K2O-0,052, SO3-0,046, Fe-

0,04 (2=5A5=85 2 ?>G2C) 
:3/30 60 176 2,94 90 265 2,94 90 265 2,94 60 176 2,94 60 176 2,94 60 176 2,94 

'4>1@5=85 684:>5 07>B=>5 
(��%), N-32 (2=5A5=85 2 ?>G2C) :3/30 60 188 3,13 90 282 3,13 90 282 3,13 60 188 3,13 60 188 3,13 60 188 3,13 

'4>1@5=85 684:>5 07>B=>5, 
<0@:0 ��%-32, N-32 (2=5A5=85 
2 ?>G2C)  

:3/30 60 188 3,13 90 282 3,13 90 282 3,13 60 188 3,13 60 188 3,13 60 188 3,13 

'4>1@5=85 684:>5 07>B=>5 
(��%), N 0<<>=89=K9 - 6,8, N  

=8B@0B=K9 - 6,8,  

N 0<84=K9 - 13,5 (2=5A5=85 2 
?>G2C) 

:3/30 60 214 3,57 90 321 3,57 90 321 3,57 60 214 3,57 60 214 3,57 60 214 3,57 

5 

%C?5@D>AD0B, P-15 :3/30 80 534 6,67 110 734 6,67 90 600 6,67 70 467 6,67 100 667 6,67 - - - 

%C?5@D>AD0B >1>30I5==K9, P-

21,5 
:3/30 80 372 4,65 110 512 4,65 90 418 4,65 70 325 4,65 100 465 4,65       

%C?5@D>AD0B, P-19 :3/30 80 421 5,26 110 579 5,26 90 473 5,26 70 368 5,26 100 526 5,26 - - - 

6 

�>=F5=B@0B 8 <C:0 
D>AD>@8B=K5 +8;8A09A:>3> 
<5AB>@>645=8O, P-17 

:3/30 
  

  

  

110 647 5,88 110 647 5,88 70 412 5,88 110 647 5,88 

- - - 

(>AD>@8B=0O <C:0 
�5@E=5:0<A:0O <0@:8 �, �, �, 
P2O5-23-25 

:3/30 -   - 110 459 4,17 110 459 4,17 70 292 4,17 110 459 4,17 - - - 

7 

%C?@5D>A 07>B-
A5@>A>45@60I89 «%C?@5D>A-
NS», N-12, P2O5-24, Ca-14, Mg-

0,5, SO3-25 

:3/30 80 223 2,79 110 307 2,79 90 251 2,79 70 195 2,79 100 195 2,79 

- - - 

8 

�<<>D>A, N-10, P-46 :3/30 85 143 1,79 110 197 1,79 90 161 1,79 70 125 1,79 100 179 1,79 - - - 

�<<>D>A, N-10, P-52 :3/30 85 137 1,61 110 182 1,65 90 145 1,61 70 113 1,61 100 161 1,61 - - - 

9 

�0;89 E;>@8ABK9 
M;5:B@>;8B=K9, KCl-68, K2O-

43 

:3/30 - - - 120 176 1,47 60 88 1,47       

      

- - - 

�0;89 E;>@8ABK9, K2O-60 :3/30       120 200 1,67 60 100 1,67             - - - 

10 �0;89 A5@=>:8A;K9 (AC;LD0B 
:0;8O) >G8I5==K9, K2O-50 

:3/30       120 240 2 60 120 2             - - - 
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�3@>E8<8:0B %C;LD0B :0;8O, 
K-53, S-18 

:3/30 - - - 120 169 1,41 60 85 1,41             - - - 

!8B@>0<<>D>A:0 <0@:8 NPK 
15:15:15; N-15, P-15, K-15 

:3/30 80 178 2,22 130 289 2,22 90 200 2,22             - - - 

'4>1@5=85 07>B=>-D>AD>@=>-
:0;89=>5 <0@:8 15:15:15; N-15, 

P-15, K-15 

:3/30 80 178 2,22 130 289 2,22 90 200 2,22             - - - 

'4>1@5=85 07>B=>-D>AD>@=>-
:0;89=>5  =8B@>0<<>D>A:0 
(07>D>A:0); N-15, P-15, K-15 

:3/30 80 178 2,22 130 289 2,22 90 200 2,22             - - - 

11 

'4>1@5=85 07>B=>-D>AD>@=>-
:0;89=>5  NPK-1 

(480<<>D>A:0); N-10, P-26, K-

26 

:3/30 80 129 1,61 130 209 1,61 90 145 1,61             - - - 

!8B@>0<<>D>A:0 <0@:8 
23:13:8; N-23, P-13, K-8 

:3/30 80 182 2,27 130 295 2,27 90 204 2,27             - - - 

NPK C4>1@5=85: 
!8B@>0<<>D>A:0; N-16, P-16, 

K-16 

:3/30 80 166 2,08 130 270 2,08 90 187 2,08             - - - 

!8B@>0<<>D>A:0; N-16, P-16, 

K-16 
:3/30 80 166 2,08 130 270 2,08 90 187 2,08             - - - 

!8B@>0<<>D>A:0  <0@:8 NPK 
16:16:16; N-16, P-16, K-16 

:3/30 80 166 2,08 130 270 2,08 90 187 2,08             - - - 

!8B@>0<<>D>A:0 <0@:8 
14:14:23; N-14, P-14, K-23 

:3/30 80 157 1,96 130 255 1,96 90 176 1,96             - - - 

!8B@>0<<>D>A:0 <0@:8 
10:26:26; N-10, P-26, K-26 

:3/30 80 129 1,61 130 209 1,61 90 145 1,61             - - - 

'4>1@5=85 07>B=>-D>AD>@=>-
:0;89=>5 <0@:8 10:26:26, ; N-

10, P-26, K-26 

:3/30 80 129 1,61 130 209 1,61 90 145 1,61             - - - 

NPK C4>1@5=85: !8B@>D>A:0; 
N-15, P-15, K-15 

:3/30 80 178 2,22 130 289 2,22 90 200 2,22                   

�><?;5:A=>5 07>B=>-D>AD>@=>-
:0;89=>5 <8=5@0;L=>5 
C4>1@5=85 (BC:>A<5A8 NPK); N-

16, P-16, K-16 

:3/30 80 166 2,08 130 270 2,08 90 187 2,08                   

�><?;5:A=>5 07>B=>-D>AD>@=>-
:0;89=>5 <8=5@0;L=>5 
C4>1@5=85 (BC:>A<5A8 NPK); N-

13, P-19, K-19 

:3/30 80 157 1,96 130 255 1,96 90 176 1,96                   

�><?;5:A=>5 07>B=>-D>AD>@=>-
:0;89=>5 <8=5@0;L=>5 
C4>1@5=85 (BC:>A<5A8 NPK); N-

20, P-14, K-20 

:3/30 80 148 1,85 130 241 1,85 90 167 1,85                   
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NPK-C4>1@5=85; N-15, P-15, K-

15 :3/30 80 178 2,22 130 289 2,22 90 200 2,22                   

(>AD>@=>-:0;89=K5 
C4>1@5=8O, P-18, K-9 

:3/30 80 296 3,70 130 481 3,70 90 333 3,70                   

(>AD>@=>-:0;89=K5 
C4>1@5=8O, P-27, K-4 

:3/30 80 258 3,23 130 420 3,23 90 291 3,23                   

'4>1@5=85 A;>6=>5 07>B=>-
D>AD>@=>5 A5@>A>45@60I55 
<0@:8 20:20, N-20, P-20, S-14 

:3/30 80 148 1,85 130 241 1,85 90 167 1,85                   

12 

'4>1@5=85 A;>6=>5 07>B=>-
D>AD>@=>5 A5@>A>45@60I55 
<0@:8 20:20, N-20, P-20, S-8-14 

:3/30 80 157 1,96 130 255 1,96 90 176 1,96                   

NPK C4>1@5=85: !8B@>D>A:0, 
N-6, P-14, K-14, Ca-12 

:3/30 80 174 2,17 130 282 2,17 90 195 2,17                   

13 

!8B@>0<<>D>A:0 C;CGH5==>3> 
3@0=C;><5B@8G5A:>3> A>AB020, 
N-16, P-16, K-16, S-2,Ca-1, Mg-

0,6 

:3/30 80 155 1,94 130 252 1,94 90 175 1,94                   

!8B@>0<<>D>A:0 <0@:8 
14:14:23, N-14, P-14, K-23, S-

1,7, Ca-0,5, Mg-1 

:3/30 80 148 1,85 130 241 1,85 90 167 1,85                   

 


